LOCATION LIST - BPCL

Appointment of Retail Outlet Dealerships in the State of Andhra Pradesh By BPCL

SI. No	Name Of Location	Revenue District		Estimated monthly Sales Potential #	Category	type of Site*	site (in Sq M)* Depth = Area	(Frontage x	applicant 9a v	e arranged by vorking capital, a capital	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	in Lakhs)
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in Kls	SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OB C CC 1/OBC PH/OPEN/O PEN CC 1/OPEN CC 2/OPEN PH	CC/ DC /CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Draw of Lots / Bidding		
	ON SANAPA TO ALAMUR ROAD WITHIN 1KM FROM SANAPA											Draw of		
1	HIGH SCHOOL	ANANTAPUR	RURAL	100	SC	CFS	30	25	750	0	0	Lots Draw of	0	2
2	Thumuluru Village, Kollipara mandal	GUNTUR	RURAL	85	SC	CFS	30	25	750	0	0	Lots	0	2
	The material vinese, nompero mensa.	Control	1101012	- 03	50	0.0	30		750			Draw of	1	\vdash
3	Nagaram Village, Nagaram Mandal	GUNTUR	RURAL	85	SC	CFS	30	25	750	0	0	Lots	0	2
												Draw of		
4	Mothugudem on Mothugudem - Donkarayi Road	EAST GODAVARI	RURAL	60	SC	CFS	30	25	750	0	0	Lots	0	2
_	D. 11		BUBAL	05		656	30	25	750			Draw of		2
5	Darbharevu village, Narsapur Mandal	WEST GODAVARI	RURAL	95	SC	CFS	30	25	750	0	0	Lots Draw of	0	
6	NAVUDUR (MARTERU TO VEERAVASARAM R&B ROAD)	WEST GODAVARI	RURAL	133	SC	CFS	30	25	750	0	О	Lots	0	2
	,											Draw of		
7	In Nuleveedu village, Galiveedu mandal.	KADAPA	RURAL	125	ST	CFS	30	25	750	0	0	Lots	0	2
												Draw of		
8	THUMMALAPENTA VILLAGE, KAVALI MANDAL	NELLORE	RURAL	100	ST	CFS	30	25	750	0	0	Lots Draw of	0	2
9	Parvathi puram town, within municipal limit	VIZIANAGARAM	REGULAR	120	ST	CFS	20	20	400	0	0	Lots	0	3
										-		Draw of		\vdash
10	Ibrahimpatnam (Not on NH)	KRISHNA	REGULAR	130	ST	CFS	30	25	750	0	0	Lots	0	3
												Draw of		
11	NANDYAL TOWN VIJAYAWADA CITY (WITHIN 2 KM FROM AMMA	KURNOOL	REGULAR	147	SC	CFS	20	20	400	0	0	Lots Draw of	0	3
12	KALYANAMANDAPAM TOWARDS GUNADALA ROAD)	KRISHNA	REGULAR	300	SC	CFS	20	20	400	0	0	Lots	0	3
	Within 3 kms from Khajipalem towards NH 216 junction on			555	55	0.0						Draw of	1	
13	Nizampatnam- Machavaram road	GUNTUR	REGULAR	110	ST	CFS	30	25	750	0	0	Lots	0	3
												Draw of		
14	Razole town limits	EAST GODAVARI	REGULAR	130	SC	CFS	20	20	400	0	0	Lots	0	3
15	Mogili to Palamner on New NH (LHS)	CHITTOOR	REGULAR	260	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
13	Mogni to Falanniei on New NT (LTD)	CHITTOOK	REGULAR	200	30	CF3	33	43	13/3	0	0	Draw of	"	-
16	Piler to kalikiri on NH-71	CHITTOOR	REGULAR	210	SC	CFS	35	45	1575	0	0	Lots	0	3
												Draw of		
17	DARSI TOWN (not on NH/SH) , DARSI, PRAKASAM DISTRICT	PRAKASAM	REGULAR	107	SC	CFS	20	20	400	0	0	Lots	0	3
100	Parvathipuram town Between Kottavalasa To Mettupaka Jn		DECULA-	420		656			400			Draw of		
18	on RHS	VIZIANAGARAM	REGULAR	130	SC	CFS	20	20	400	0	0	Lots	0	3

SI. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	type of Site*	site (in Sq M		(Frontage x	applicant 9a v	pe arranged by working capital, a capital	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
	TETAGUNTA VILLAGE ON NH LHS TOWARDS											Draw of		
19	VISAKHAPATNAM	EAST GODAVARI	REGULAR	160	SC	CFS	35	45	1575	0	0	Lots	0	3
												Draw of		
20	Thonduru village, Thonduru mandal	KADAPA	REGULAR	120	SC	CFS	20	20	400	0	0	Lots	0	3
	Mallur(V), Mothukur (M), within 3 kms from Govt. Fisheries											Draw of		
21	college, towards Nellore on either side	NELLORE	REGULAR	100	ST	CFS	30	25	750	0	0	Lots	0	3
	Within 1 km from Thimmapuram on NH-16 junction towards											Draw of		
22	Nadendla-Thubada road.	GUNTUR	REGULAR	314	SC	CFS	30	25	750	0	0	Lots	0	3
												Draw of		
23	GOPALAPATNAM TO NARAVA	VISAKHAPATNAM	REGULAR	200	SC	CFS	20	20	400	0	0	Lots	0	3
												Draw of		
24	ARAKU VALLEY	VISAKHAPATNAM	REGULAR	180	ST	CFS	35	35	1225	0	0	Lots	0	3
	On SH 53, 01 km Before Marrichetlapalem village on LHS			40-						_	[Draw of	_	_
25	towards Podili	PRAKASAM	REGULAR	190	SC	CFS	35	35	1225	0	0	Lots	0	3
												Draw of		
26	Paderu to Chintapalli	VISAKHAPATNAM	REGULAR	120	ST	CFS	20	20	400	0	0	Lots	0	3
27	NEEDS TO KIND TO BE TO SEE STATE OF THE SECOND SECO	VBICIUS.	25011142	250	CT	CFC.	25	45	4575			Draw of		
27	VTPS to Kattubadipalem on RHS of NH 221	KRISHNA	REGULAR	250	ST	CFS	35	45	1575	0	0	Lots	0	3
20	D. C. C. Marcelland and D. Marcelland		05011140	425		CFC.	25	25	4225		0	Draw of		3
28	Between Varadhaeypalem to BN Khandriga	CHITTOOR	REGULAR	125	SC	CFS	35	35	1225	0	0	Lots	0	3
20	Kurnool Town, (At Kallur Estate) RHS from NH-7 Over Bridge		25011142	455		CFC.	20	20	400			Draw of		
29	to BASF Chemical Company	KURNOOL	REGULAR	155	SC	CFS	20	20	400	0	0	Lots	0	3
20	ON HINDUPUR TO LEPAKSHI ROAD WITHIN 5KM FROM NTR	******	25011142	405		CFC.	25	25	4225			Draw of		
30	CIRCLE(HINDUPUR)	ANANTAPUR	REGULAR	105	SC	CFS	35	35	1225	0	0	Lots	0	3
24	Velagapalli Panchayat, Ganapavaram Mandal, Ganapavaram	MITCE CODAVADI	BUBAL	60	ODEN	D.C	20	25	750	12	20	Draw of	_	4
31	to Pippara, West Godavari District	WEST GODAVARI	RURAL	60	OPEN	DC	30	25	750	12	30	Lots	5	4
32	MOGALTURU TO VEMULADEEVI(ON R&B ROAD)	WEST GODAVARI	RURAL	60	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
32	WIOGALTORO TO VEMIOLADEEVI(ON R&B ROAD)	WEST GODAVARI	KUKAL	60	UBC	DC	30	23	/30	12	30	Draw of	3	3
33	Kondagunturu within village limits	EAST GODAVARI	RURAL	60	SC	CFS	30	25	750	0	0	Lots	0	2
33	Kondagunturu witiiiii viiiage iiiiiits	EAST GODAVARI	KOKAL	00	30	CF3	30	23	730	0	-	Draw of	0	2
34	ATREYAPURAM within village limits	EAST GODAVARI	RURAL	52	OPEN	DC	30	25	750	12	30	Lots	5	4
34	Dondapudi Village on Dondapudi - Koyyalagudem R&B	LAST GODAVAIN	KOTOLE	32	OI EIV	- DC	1 30	23	750	12	30	Draw of		-
35	Road(Gopalapuram Mandal)	WEST GODAVARI	RURAL	50	OPEN	DC	30	25	750	12	30	Lots	5	4
- 55	Nodu(Gopalaparani Manaal)	WEST GODAVAIL	KOTOLE	30	OI EIV	- DC	1 30	23	750	12	30	Draw of		
36	Within Elluppi village limits	VISAKHAPATNAM	RURAL	70	OBC	DC	30	25	750	12	30	Lots	5	3
									1	†		Draw of	_	
37	KONDRUPROLU VILLAGE, TADEPALLIGUDEM MANDAL	WEST GODAVARI	RURAL	60	ST	CFS	30	25	750	0	0	Lots	0	2
												Draw of		
38	LHS, Chinnayagudem Village Towards Yadavolu	WEST GODAVARI	RURAL	50	OPEN	DC	30	25	750	12	30	Lots	5	4
												Draw of		
39	Nagarikatakam Village (Jalumuru Mandal)	SRIKAKULAM	RURAL	110	OPEN	DC	30	25	750	12	30	Lots	5	4
												Draw of		
40	Within Padugupadu Village limits	VISAKHAPATNAM	RURAL	65	OBC	DC	30	25	750	12	30	Lots	5	3
	Medapadu village, Yelamanchili Mandal, West Godavari											Draw of		
41	district	WEST GODAVARI	RURAL	60	OPEN	DC	30	25	750	12	30	Lots	5	4
												Draw of		
42	GUDAPALLI VILLAGE	EAST GODAVARI	RURAL	62	SC	CFS	30	25	750	0	0	Lots	0	2
										1		Draw of		
43	PEDDADIMILI - ON ALIKAM-BATHILI RAOD- BAMINI MANDAL	SRIKAKULAM	RURAL	60	OBC	DC	30	25	750	12	30	Lots	5	3
										1		Draw of		
44	Gopavaram on Gopavaram - Saggonda Road	WEST GODAVARI	RURAL	60	OPEN CC 1	DC	30	25	750	12	30	Lots	5	4
										1		Draw of		
45	gollavani cheruvu (palacole mandal)	WEST GODAVARI	RURAL	70	OPEN	DC	30	25	750	12	30	Lots	5	4

SI. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	type of Site*	site (in Sq N		(Frontage x	applicant 9a v	pe arranged by working capital, a capital	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
46	POGIRI VILLAGE NOT ON SH	SRIKAKULAM	RURAL	65	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
47	CSI Church to Kothuru on pedapadu road	WEST GODAVARI	RURAL	96	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
48	RAJUPALEM VILLAGE, KIRLAMPUDI MANDAL	EAST GODAVARI	RURAL	150	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
49	Within Mogalipuram village limits	VISAKHAPATNAM	RURAL	70	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
50	PALAKANDYAM VILLAGE, G SIGADAM MANDAL	SRIKAKULAM	RURAL	65	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
51	MOGALTURU TO LAKSHMANESWARAM (NOT ON NH)	WEST GODAVARI	RURAL	100	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
52	RAYAVARAM VILLAGE	EAST GODAVARI	RURAL	100	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
53	PYDIKONDA VILLAGE, THONDAGI MANDAL	EAST GODAVARI	RURAL	70	OPEN CC 2	DC	30	25	750	12	30	Draw of Lots	5	4
54	SUSARAM VILLAGE, POLAKI MANDAL	SRIKAKULAM	RURAL	83	OBC CC 1	DC	30	25	750	12	30	Draw of Lots	5	3
55	GARUGUBILLI VILLAGE & MANDAL	VIZIANAGARAM	RURAL	84	SC CC 1	CFS	30	25	750	0	0	Draw of Lots	0	2
56	GOLLAPALEM VILLAGE	EAST GODAVARI	RURAL	120	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
57	BARUVA VILLAGE	SRIKAKULAM	RURAL	60	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
58	GANGUVARISINGADAM VILLAGE & MANDAL, SRIKAKULAM DIST.	SRIKAKULAM	RURAL	78	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
59	RAMARAOPETA CENTRE(GANAPAVARAM TO BHUTTAIGUDEM ROAD)	WEST GODAVARI	RURAL	89	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
60	KOTHAVALASA TO ANANDAPURAM ON DEVARAPALLI ROAD	VIZIANAGARAM	RURAL	100	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
61	Atchutapuram, Jalumuru Mandalam	VIZIANAGARAM	RURAL	105	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
62	VANGARA VILLAGE & MANDAL, SRIKAKULAM DIST.	SRIKAKULAM	RURAL	58	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
63	Ryali Village on Ravulapalem - Bobbarlanka R&B Road	EAST GODAVARI	RURAL	180	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
64	KOMANAPALLI VILLAGE-ON BUDITHI ROAD	SRIKAKULAM	RURAL	80	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
65	Ganapavaram Village, Buttaigudem Mandal, West Godavari District	WEST GODAVARI	RURAL	65	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
66	RELANGI VILLAGE (VELPUR TO RELANGI)	WEST GODAVARI	RURAL	57	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
67	Ganti Village limits	EAST GODAVARI	RURAL	210	OPEN CC 1	DC	30	25	750	12	30	Draw of Lots	5	4
68	GULLASEETHARAMPURAM, RAJAM PONDURU RD NOT ON SH	VIZIANAGARAM	RURAL	75	sc	CFS	30	25	750	0	0	Draw of Lots	0	2
69	REGADI AMADALAVALASA VILLAGE & MANDAL	SRIKAKULAM	RURAL	92	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
70	Pothunuru village, Dendulur Mandal, West Godavari Dist	WEST GODAVARI	RURAL	50	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
71	vardarajapuram village (LHS)Ganapavaram mandal on pippara ganapavaram road	WEST GODAVARI	RURAL	80	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
72	RAMATHEERTHAM VILLAGE, NELLIMERLA MANDAL	VIZIANAGARAM	RURAL	95	OBC	DC	30	25	750	12	30	Draw of Lots	5	3

SI. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	type of Site*	site (in Sq M		(Frontage x	applicant 9a v	pe arranged by working capital, a capital	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
73	PATHARLAPALLI VILLAGE, RANASTALAM MANDAL	SRIKAKULAM	RURAL	91	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
74	Bhavayapalem Village, Nidamarru Mandal, West Godavari District	WEST GODAVARI	RURAL	80	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
75	Sammittivarigudem to Mallayagudem with in the revenue limits of chintalapudi	WEST GODAVARI	RURAL	100	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
76	VANDUVA VILLAGE, VEERAGHATTAM MANDAL	SRIKAKULAM	RURAL	60	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
77	GOppili VILLAGE, MELIAPUTTI MANDAL	SRIKAKULAM	RURAL	75	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
78	Bandivarigudem Village, T.Narsapuram Mandal RAJUPOTHEPALI CENTRE (WITH IN 500m), TADLEM VILLAGE,	WEST GODAVARI	RURAL	57	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
79	T NARSAPURAM MANDAL, WG DIST	WEST GODAVARI	RURAL	50	OPEN	DC	30	25	750	12	30	Draw of Lots Draw of	5	4
80	Brahmanagudem on Nidavole to Chagallu R&B Road	WEST GODAVARI	RURAL	170	OBC PH	DC	30	25	750	12	30	Lots Draw of	5	3
81	Kadiyapu lanka village limits	EAST GODAVARI	RURAL	135	SC PH	CFS	30	25	750	0	0	Lots Draw of	0	2
82	GUMMULURU VILLAGE PODURU MANDAL RAGHAVAPURAM(GURUBATLAGUDEM TO CHINTALAPUDI	WEST GODAVARI	RURAL	59	OPEN	DC	30	25	750	12	30	Lots Draw of	5	4
83	ROAD)	WEST GODAVARI	RURAL	89	OPEN	DC	30	25	750	12	30	Lots Draw of	5	4
84	KARAKUDURU VILLAGE, PEDAPUDI MANDAL	EAST GODAVARI	RURAL	70	OBC	DC	30	25	750	12	30	Lots Draw of	5	3
85	ANGARA VILLAGE, KAPILESWARAPURAM MANDAL	EAST GODAVARI	RURAL	63	OPEN	DC	30	25	750	12	30	Lots Draw of	5	4
86	BUDUMURU VILLAGE NOT ON NH NINGI NARUPADU VILLAGE, SABBAVARAM MANDAL,	SRIKAKULAM	RURAL	75	SC	CFS	30	25	750	0	0	Lots Draw of	0	2
87	VISAKHPATNAM DISTRICT	VISAKHAPATNAM	RURAL	60	OPEN	DC	30	25	750	12	30	Lots Draw of	5	4
88	BONDAPALLI VILLAGE, BONDAPALLI MANDAL BORREMPALEM VILLAGE TOWARDS T.NARSAPURAM WITH	VIZIANAGARAM	RURAL	80	OBC	DC	30	25	750	12	30	Lots Draw of	5	3
90	IN 2 KMS ON LHS, R&B ROAD From Achutapuram to Yellamanchili within Mamidivada	WEST GODAVARI VISAKHAPATNAM	RURAL	70 90	OPEN SC	DC CFS	30	25	750 750	0	30	Lots Draw of	0	2
90	village permises. THONDANGI TO ONTIMAMIDI LHS	EAST GODAVARI	RURAL	150	OBC	DC	30	25 25	750	12	30	Lots Draw of Lots	5	3
92	LOLUGU VILLAGAE NOT ON SH	SRIKAKULAM	RURAL	86	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
93	DONDAPADU (NOT ON SH AND NH)	KRISHNA	RURAL	36	OPEN CC 1	DC	30	25	750	12	30	Draw of Lots	5	4
94	Telaprolu Village, Unguturu Mandal	KRISHNA	RURAL	48	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
95	CUMBUM VILLAGE (NOT ON NH/SH), CUMBUM MANDAL	PRAKASAM	RURAL	87	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
96	CHINNAPURAM (NOT ON SH AND NH)	KRISHNA	RURAL	36	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
97	PAMIDIMUKKALA VILLAGE (NOT ON SH & NH)	KRISHNA	RURAL	50	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
98	Manikonda Village, Unguturu Mandal (Not on NH/SH)	KRISHNA	RURAL	60	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
99	RAYANAPADU VILLAGE, VIJAYAWADA (RURAL) MANDAL	KRISHNA	RURAL	60	SC	CFS	30	25	750	0	0	Draw of Lots	0	2

1 2 3 4 5 6 7 8a 8b 8c 9a 9b 10 11	SI. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	type of Site*	site (in Sq N		(Frontage x	applicant 9a v	be arranged by working capital, a capital	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
DESCRIPTION PREMIUMAND NY INTERNATION PREMIUMAND NY INTERNATION	1	2	3	4	5	6	7	8a	8b	8c	9a	9b		11	12
101	100	CHILAKALLU TO RAMCO CEMENT FACTORY	KRISHNA	RURAL	84	OPEN	DC	30	25	750	12	30		5	4
VEERULAPADU VILLAGE, UERULAPADU MANDAL RRISHNA RURAL 48		PEDAPULIPAKA ON YENAMALAKUDURU -AVANIGADDA											Draw of		
102 VEERULAPADU VILLAGE, VEERULAPADU MANDAL RRISHNA RURAL 45 OBC DC 30 25 750 12 30 Lots 5	101	KARAKATTA ROAD	KRISHNA	RURAL	90	OPEN	DC	30	25	750	12	30		5	4
														_	
101 MUTYALAPADU VILLAGE, INASAMANDA PRAKASAM RUPAL 45 OBC CC1 DC 30 25 750 12 30 Lots 5	102	VEERULAPADU VILLAGE, VEERULAPADU MANDAL	KRISHNA	RURAL	48	OPEN	DC	30	25	750	12	30		5	4
104 MUTYALAPADU VILLAGE, LINGSAMUDRAM MANDAL PRAKASAM PRAK	103	Ghantasala (not on NH and SH)	KRISHNA	RURAL	45	OBC CC 1	DC	30	25	750	12	30		5	3
Description	103	Gilditasaia (not ori iti)	KKISTIYA	HOIVAL	43	OBC CC 1	- BC	1 30	1 23	750	12	30			
105 Pittalavanipalem Village, Pittalavanipalem mandal GUNTUR RURAL 99 OPEN PH DC 30 25 750 12 30 Lots 5	104	MUTYALAPADU VILLAGE, LINGASAMUDRAM MANDAL	PRAKASAM	RURAL	59	ST CC 1	CFS	30	25	750	0	0		0	2
166 GOLANAPALI VIIIage, Gannavaram Mandal KRISHNA RURAL 55 09C DC 30 25 750 12 30 L015 5	105	Pittalavanipalem Village, Pittalavanipalem mandal	GUNTUR	RURAL	99	OPEN PH	DC	30	25	750	12	30		5	4
107 TADINADA (ON KALIDINDI TO CHINA TADINADA ROAD) KRISHNA RURAL 50 OPEN DC 30 25 750 12 30 Draw of Lots 5													Draw of		
107 TADINADA (ON KALDINDI TO CHINA TADINADA ROAD) KRISHNA RURAL 50 OPEN DC 30 25 750 12 30 Lots 5	106	GOLLANAPALI Village,Gannavaram Mandal	KRISHNA	RURAL	55	OBC	DC	30	25	750	12	30		5	3
108	40-		WD10			05				7				_	
108	107	TADINADA (ON KALIDINDI TO CHINA TADINADA ROAD)	KRISHNA	KURAL	50	OPEN	DC	30	25	/50	12	30		5	4
109 Chekkapalii, Musunuru Mandal KRISHNA RURAL 72 OPEN DC 30 25 750 12 30 Draw of	108	KONDAPALI VILLAGE. IBRAHIMPATNAM MANDAL	KRISHNA	RURAI	60	sc	CES	30	25	750	0	0		0	2
Annaram Village on Narasarapet Rompicherla road, Rompicherla Rompicherla Rompicherla Mandal GUNTUR RURAL 90 08C DC 30 25 750 12 30 Draw of 111 UPPULURU VILLAGE (ON KESARAPALLI ROAD) KRISHNA RURAL 71 OPEN DC 30 25 750 12 30 Lots 5 Draw of 112 Towards Gannavaram Road - not on State Highway) KRISHNA RURAL 71 OPEN DC 30 25 750 12 30 Lots 5 Draw of 113 Unique more management of the more managemen	100			1101012	- 55	- 50	0.5	 30	1 23	750					
110	109	Chekkapalli, Musunuru Mandal	KRISHNA	RURAL	72	OPEN	DC	30	25	750	12	30		5	4
111 UPPULURU VILLAGE (ON KESARAPALLI ROAD) KRISHNA RURAL 71 OPEN DC 30 25 750 12 30 Lots 5		Annaram Village on Narasaraopet Rompicherla road,											Draw of		
111	110	Rompicherla Mandal	GUNTUR	RURAL	90	OBC	DC	30	25	750	12	30		5	3
PUNADIPADU VILLAGE Punadipadu cheruwu junction 112 122 130 123 130 124 130 125 124 130 125 125 130 125 1														_	
112 towards Gannavaram Road - not on State Highway)	111		KRISHNA	RURAL	/1	OPEN	DC	30	25	750	12	30		5	4
113 Lingamguntla Village, Pedakurapadu Mandal GUNTUR RURAL 50 ST CFS 30 25 750 0 0 Lots 0	112		KRISHNA	RURAI	71	OPEN	DC	30	25	750	12	30		5	4
114 Ganapavaram Village Nadendia Mandal GUNTUR RURAL 77 OBC DC 30 25 750 12 30 Lots 5		,													
114 Ganapavaram Village Nadendia Mandal GUNTUR RURAL 77 OBC DC 30 25 750 12 30 Lots 5	113	Lingamguntla Village, Pedakurapadu Mandal	GUNTUR	RURAL	50	ST	CFS	30	25	750	0	0	Lots	0	2
115 REDDYGUDEM VILLAGE, A.Konduru Mandal KRISHNA RURAL 60 OPEN DC 30 25 750 12 30 Lots 5															
115 REDDYGUDEM VILLAGE, A.Konduru Mandal KRISHNA RURAL 60 OPEN DC 30 25 750 12 30 Lots 5	114	Ganapavaram Village , Nadendla Mandal	GUNTUR	RURAL	77	OBC	DC	30	25	750	12	30		5	3
Tarlupladu Village (TARLUPADU MANDAL)	115	PEDDYGLIDEM VILLAGE A Konduru Mandal	KBISHNIV	DIIDAI	60	OPEN	DC	30	25	750	12	30		_	4
Tarlupladu Village (TARLUPADU MANDAL)	113	REDD TOODEN VILLAGE, A.KONGGIG Mandai	KNISTIIVA	NONAL	00	OFEN	DC	30	23	730	12	30			-
117 RUDRAPAKA (NOT ON NH AND SH) KRISHNA RURAL 50 SC CFS 30 25 750 0 0 Lots 0	116	Tarlupladu Village (TARLUPADU MANDAL)	PRAKASAM	RURAL	47	OPEN CC 1	DC	30	25	750	12	30		5	4
118 Vemuru Village on Tenali Kolluru road, Vemuru Mandal GUNTUR RURAL 90 OBC DC 30 25 750 12 30 Lots 5		,											Draw of		
118 Vemuru Village on Tenali Kolluru road, Vemuru Mandal GUNTUR RURAL 90 OBC DC 30 25 750 12 30 Lots 5	117	RUDRAPAKA (NOT ON NH AND SH)	KRISHNA	RURAL	50	SC	CFS	30	25	750	0	0		0	2
CHANUBANDA VILLAGE (TIRUVURU-CHANUBANDA ROAD), CHATRAI MANDAL KRISHNA RURAL 36 OPEN DC 30 25 750 12 30 Lots 5	110	Vernous Village on Toneli Vellum read Vernous Mandal	CUNTUR	BUBAL	00	ORC	DC	20	٦.	750	12	20		_	,
119 CHATRAI MANDAL KRISHNA RURAL 36 OPEN DC 30 25 750 12 30 Lots 5	112	ů ,	GUNTUK	KUKAL	90	ORC	DC	30	25	/50	12	30		5	3
Lingavaram Village (Lingavaram-Gudivada Road), Gudivada Mandal KRISHNA RURAL 60 OPEN DC 30 25 750 12 30 Lots 5 Kommuru Village on Bapatla Pedanadipadu road, Kakumanu Mandal GUNTUR RURAL 90 OBC DC 30 25 750 12 30 Lots 5 SOBHANAPURAM VILLAGE (not on NH and SH), AGIRIRIPALLI MANDAL KRISHNA RURAL 60 SC CFS 30 25 750 0 0 0 Lots 0 123 Chiravurru Village on Repalle road, Tadepalli mandal GUNTUR RURAL 92 OPEN DC 30 25 750 12 30 Lots 5 Pedavadlapudi village on tenali Mangalagiri road, Mangalagiri Mandal GUNTUR RURAL 96 OPEN DC 30 25 750 12 30 Lots 5	119	* * * * * * * * * * * * * * * * * * * *	KRISHNA	RURAL	36	OPEN	DC	30	25	750	12	30		5	4
Kommuru Village on Bapatla Pedanadipadu road, Kakumanu Mandal GUNTUR RURAL 90 OBC DC 30 25 750 12 30 Lots 5 SOBHANAPURAM VILLAGE (not on NH and SH), AGIRIRIPALLI MANDAL KRISHNA RURAL 60 SC CFS 30 25 750 0 0 Draw of Lots 0 Chiravurru Village on Repalle road, Tadepalli mandal GUNTUR RURAL 92 OPEN DC 30 25 750 12 30 Lots 5 Pedavadlapudi village on tenali Mangalagiri road, Mangalagiri Mandal GUNTUR RURAL 96 OPEN DC 30 25 750 12 30 Lots 5					-	1								-	
121 Mandal GUNTUR RURAL 90 OBC DC 30 25 750 12 30 Lots 5	120		KRISHNA	RURAL	60	OPEN	DC	30	25	750	12	30		5	4
SOBHANAPURAM VILLAGE (not on NH and SH), AGIRIRIPALLI KRISHNA RURAL 60 SC CFS 30 25 750 0 0 Lots 0														_	
122 MANDAL KRISHNA RURAL 60 SC CFS 30 25 750 0 0 Lots 0 123 Chiravurru Village on Repalle road, Tadepalli mandal GUNTUR RURAL 92 OPEN DC 30 25 750 12 30 Lots 5 Pedavadlapudi village on tenali Mangalagiri road, Draw of 124 Mangalagiri Mandal GUNTUR RURAL 96 OPEN DC 30 25 750 12 30 Lots 5			GUNTUR	RURAL	90	OBC	DC	30	25	750	12	30		5	3
123 Chiravurru Village on Repalle road, Tadepalli mandal GUNTUR RURAL 92 OPEN DC 30 25 750 12 30 Lots 5 Pedavadlapudi village on tenali Mangalagiri road, 124 Mangalagiri Mandal GUNTUR RURAL 96 OPEN DC 30 25 750 12 30 Lots 5			KRISHNIA	RUDAI	60	sc.	CES	30	25	750	0	0			2
123 Chiravurru Village on Repalle road, Tadepalli mandal GUNTUR RURAL 92 OPEN DC 30 25 750 12 30 Lots 5 Pedavadlapudi village on tenali Mangalagiri road, 124 Mangalagiri Mandal GUNTUR RURAL 96 OPEN DC 30 25 750 12 30 Lots 5	144	IVIAINDAL	KNIJHIVA	NORAL	30	30	CF3	30	1 23	730	"	"		"	
Pedavadlapudi village on tenali Mangalagiri road, 124 Mangalagiri Mandal GUNTUR RURAL 96 OPEN DC 30 25 750 12 30 Lots 5	123	Chiravurru Village on Repalle road, Tadepalli mandal	GUNTUR	RURAL	92	OPEN	DC	30	25	750	12	30		5	4
													Draw of		
	124	Mangalagiri Mandal	GUNTUR	RURAL	96	OPEN	DC	30	25	750	12	30		5	4
	125	Daddon Jan William Bully of the Advanta	CHATTIE	DUDA	70	000			25	750	40	20	Draw of	_	
125 Reddypalem Village, Bollapalle Mandal GUNTUR RURAL 70 OBC DC 30 25 750 12 30 Lots 5 Tikkireddy Palem on Guntur Parchuru road, Prathipadu Draw of	125		GUNIUK	KUKAL	/0	ORC	DC	30	25	/50	12	30		5	3
126 Mandal GUNTUR RURAL 75 SC CFS 30 25 750 0 0 Lots 0	126		GUNTUR	RURAL	75	sc	CFS	30	25	750	0	0		0	2

SI. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	type of Site*	site (in Sq M		(Frontage x	applicant 9a v	pe arranged by working capital, a capital	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
127	Vallabhapuram Village on Repalle road, Kollipara Mandal	GUNTUR	RURAL	73	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
												Draw of		
128	Vatticherukuru Village, Vatticherukuru Mandal	GUNTUR	RURAL	83	OPEN	DC	30	25	750	12	30	Lots	5	4
	YEDLURUPADU VILLAGE (not on SH/NH) PONNALURU											Draw of	_	
129	MANDAL	PRAKASAM	RURAL	70	OBC	DC	30	25	750	12	30	Lots Draw of	5	3
130	RAJAMPALLI VILLAGE, DARSI MANDAL	PRAKASAM	RURAL	78	ST	CFS	30	25	750	0	0	Lots	0	2
150	TOURING ALL VILLAGE, DATO MANDAL	TIGIOGRAM	HOIVE	70	31	CIS	30	25	750		Ŭ	Draw of	<u> </u>	
131	Adavuladeevi Village, Nizampatnam Mandal	GUNTUR	RURAL	90	OPEN	DC	30	25	750	12	30	Lots	5	4
												Draw of		
132	Chinnavullagallu village, Mundlamuru Mandal	PRAKASAM	RURAL	64	OBC	DC	30	25	750	12	30	Lots	5	3
122	Durwinglam Village Terreli Mary del	CUNTUR	DUDAL	90	OPEN	PC	30	25	750	13	20	Draw of	_	,
133	Burripalem Village, Tenali Mandal Prathipadu Village on Guntur Parchuru road, Prathipadu	GUNTUR	RURAL	80	UPEN	DC	30	25	750	12	30	Lots Draw of	5	4
134	Mandal	GUNTUR	RURAL	70	OPEN	DC	30	25	750	12	30	Lots	5	4
				-		1	1 -					Draw of	1	
135	MARAPAGUNTLA village VELIGANDLA MANDAL	PRAKASAM	RURAL	70	SC	CFS	30	25	750	0	0	Lots	0	2
												Draw of		
136	CHEVURU VILLAGE, GUDLURU MANDAL	PRAKASAM	RURAL	99	OBC	DC	30	25	750	12	30	Lots	5	3
137	Kollipara Village,Kollipara Mandal	GUNTUR	RURAL	30	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
15/	mopadu village on Kandukur to Gudlur Road; kandukur	GUNTUR	KUKAL	30	OPEN	DC	30	25	730	12	30	Draw of	3	4
138	mandal	PRAKASAM	RURAL	83	OPEN	DC	30	25	750	12	30	Lots	5	4
	ALAKURAPADU VILLAGE; TANGUTUR MANDAL (not on											Draw of		
139	NH/SH)	PRAKASAM	RURAL	86	SC	CFS	30	25	750	0	0	Lots	0	2
												Draw of		
140	RENIMADUGU VILLAGE,PAMURU MANDAL	PRAKASAM	RURAL	59	OBC	DC	30	25	750	12	30	Lots Draw of	5	3
141	singarayakonda village (not on NH/SH); singarayakonda Mandal	PRAKASAM	RURAL	71	OPEN	DC	30	25	750	12	30	Lots	5	4
141	Walldal	FINANASAWI	NONAL	71	OFEN	DC	30	25	730	12	30	Draw of	,	_
142	Pedda Alavalapadu village (not on NH/SH) ; PC Palli Mandal	PRAKASAM	RURAL	67	OPEN CC 1	DC	30	25	750	12	30	Lots	5	4
												Draw of		
143	SOMAVARAPETA VILLAGE, BESTAVARIPETA MANDAL	PRAKASAM	RURAL	97	OBC	DC	30	25	750	12	30	Lots	5	3
144	AMMANABROLU VILLAGE (NOT ON NH/SH);	DDAKACAA.	BUDAL	0.5		CEC	20	25	750			Draw of		,
144	NAGULUPPALAPADU MANDAL CHAKICHERLA VILLAGE; ULAVAPADU MANDAL (NOT ON	PRAKASAM	RURAL	85	ST	CFS	30	25	750	0	0	Lots Draw of	0	2
145	NH/SH)	PRAKASAM	RURAL	65	OPEN	DC	30	25	750	12	30	Lots	5	4
	,	-		-								Draw of	-	
146	Gudlur Village on Gudulur-Kandukur KGT road	PRAKASAM	RURAL	102	OPEN	DC	30	25	750	12	30	Lots	5	4
				_	_	_						Draw of		
147	Santhamagaluru Village & Mandal (Not on SH)	PRAKASAM	RURAL	65	OBC	DC	30	25	750	12	30	Lots	5	3
148	Madala village, Muppala Mandal on Sattenapalli- Narasaraopet road	GUNTUR	RURAL	80	sc	CFS	30	25	750	0	0	Draw of Lots	0	2
140	ranasaraopet roau	30.4101	NONAL	- 50	- 30	513	30	1 23	, 30			Draw of	†	
149	Velagapudi Village, Tangaturu Mandal	PRAKASAM	RURAL	53	OPEN	DC	30	25	750	12	30	Lots	5	4
	Mulaguntapadu Village (Singarayakonda Mandal) (not on											Draw of		
150	nh/sh)	PRAKASAM	RURAL	111	OPEN	DC	30	25	750	12	30	Lots	5	4
154	Vadamilioni Villaga (1) and the state of the	DDAKASAA	DUDA	75	000	F.	30	25	750	43	20	Draw of	_	
151	Kadavakuduru Village, Chinaganjam Mandal Peda Araveedu Village, Peda Araveedu Mandal (not on	PRAKASAM	RURAL	75	OBC	DC	30	25	750	12	30	Lots Draw of	5	3
152	nh/sh)	PRAKASAM	RURAL	143	OPEN	DC	30	25	750	12	30	Lots	5	4
	, ••••			0		1			1.55			Draw of	1	
153	Karavadi Village, Ongole Mandal	PRAKASAM	RURAL	51	SC CC 1	CFS	30	25	750	0	0	Lots	0	2

SI. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	type of Site*	site (in Sq N	•	(Frontage x	applicant 9a v	be arranged by working capital, a capital	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
154	komarolu village (not on nh/sh); komarolu mandal	PRAKASAM	RURAL	71	OPEN CC 2	DC	30	25	750	12	30	Draw of Lots	5	4
155	VADLAMANNADU (NOT ON SH AND NH)	KRISHNA	RURAL	36	OBC CC 1	DC	30	25	750	12	30	Draw of Lots	5	3
156	Nandigama Village,Sattenapalli Mandal	GUNTUR	RURAL	60	OPEN	DC	30	25	750	12	30	Draw of Lots Draw of	5	4
157	Valaparla Village, Martur Mandal	PRAKASAM	RURAL	70	SC	CFS	30	25	750	0	0	Lots Draw of	0	2
158	SWARNA VILLAGE, KARAMCHEDU MANDAL Dharmavaram Village Addanki Mandal on Kopperapalem-	PRAKASAM	RURAL	60	OBC	DC	30	25	750	12	30	Lots Draw of	5	3
159	Addanki Road	PRAKASAM	RURAL	65	OPEN	DC	30	25	750	12	30	Lots	5	4
160	Maddiralapadu Village, Naguluppala Padu mandal (Not on NH)	PRAKASAM	RURAL	100	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
161	Ballipalli Village (Kanigiri Mandal)	PRAKASAM	RURAL	106	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
162	Hanumantunipadu village; HANUMANTUNIPADU MANDAL (not on NH/SH)	PRAKASAM	RURAL	59	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
163	Petlurivaripalem Village,Narasaraopet Mandal (Within 1km from Petlurivaripalem to Kotapakonda Road)	GUNTUR	RURAL	75	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
164	Peda Kodamagundla to Kakanivaripalem Village, Karampudi Mandal- On Karempudi to Dachepalli Road	GUNTUR	RURAL	55	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
165	Bramanapalli Village, Komarolu Mandal	PRAKASAM	RURAL	80	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
166	RUDRASAMUDRAM VILLAGE on Main Road (DONAKONDA MANDAL)	PRAKASAM	RURAL	45	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
167	Chinnapalakaluru village, Guntur Mandal, On Guntur- Perecherla Road	GUNTUR	RURAL	100	OPEN	DC	30	25	750	12	30	Draw of Lots Draw of	5	4
168	Dodleru village, Krosuru Mandal	GUNTUR	RURAL	75	OPEN CC 1	DC	30	25	750	12	30	Lots	5	4
169	ASWINIPURAM VILLAGE, ATMAKUR MANDAL	NELLORE	RURAL	90	ОВС	DC	30	25	750	12	30	Draw of Lots Draw of	5	3
170	GANDIPALEM VILLAGE, UDAYAGIRI MANDAL	NELLORE	RURAL	100	SC	CFS	30	25	750	0	0	Lots Draw of	0	2
171	Gunapadu village, Chittamur Mandal (not on SH) Chaglamari Town on Old highway (not on new bypass NH-	NELLORE	RURAL	100	OPEN	DC	30	25	750	12	30	Lots Draw of	5	4
172	18)	KURNOOL	RURAL	100	OPEN	DC	30	25	750	12	30	Lots Draw of	5	4
173	In Bramhamgarimatam Village and mandal (Not on NH/SH).	KADAPA	RURAL	125	OBC	DC	30	25	750	12	30	Lots Draw of	5	3
174	Pagidyala Village Limits on Nandikotkur road	KURNOOL	RURAL	65	OPEN	DC	30	25	750	12	30	Lots Draw of	5	4
175	On Kodur to Chitvel Road (Not on SH)	KADAPA	RURAL	115	SC	CFS	30	25	750	0	0	Lots Draw of	0	2
176	B Kothakota Village and Mandal	CHITTOOR	RURAL	105	OPEN	DC	30	25	750	12	30	Lots Draw of	5	4
177	PERURU VILLAGE,RAMAGIRI MANDAL	ANANTAPUR	RURAL	106	ОВС	DC	30	25	750	12	30	Lots	5	3
178	on guntakal to kasapuram road, within 2kms from kasapuram police station	ANANTAPUR	RURAL	120	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
179	Siddavatam Village and Mandal (Not on SH/NH).	KADAPA	RURAL	110	ST PH	CFS	30	25	750	0	0	Draw of Lots Draw of	0	2
180	AMARAPURAM VILLAGE ,AMARAPURAM MANDAL	ANANTAPUR	RURAL	105	OBC PH	DC	30	25	750	12	30	Lots	5	3

SI. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	type of Site*	site (in Sq N		(Frontage x	applicant 9a v	be arranged by working capital, a capital	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
181	Narpala village ,Narpala mandal	ANANTAPUR	RURAL	170	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
182	Tarigonda Village, Gurramkonda Mandal	CHITTOOR	RURAL	80	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
183	In Vempalle Village and mandal.	KADAPA	RURAL	130	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
184	Between Shanthipuram and Beddanakuppam Village	CHITTOOR	RURAL	100	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
185	PAMIDI VILLAGE,PAMIDI MANDAL NOT ON NH	ANANTAPUR	RURAL	140	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
186	Jaladanki village (not on SH)	NELLORE	RURAL	100	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
187	In Simhadripuram Village and Mandal.	KADAPA	RURAL	155	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
188	In T.sundupalle Village and Mandal Limits.	KADAPA	RURAL	125	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
189	Kammavaripalem, Jaladanki Mandal (not on SH)	NELLORE	RURAL	100	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
190	VOOTLAPALEM VILLAGE TOWARDS KANDALER DAM, PODALAKUR MANDAL	NELLORE	RURAL	100	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
191	South Mopur village, Nellore Rural mandal	NELLORE	RURAL	90	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
192	On Gudupalle to Ontipalle road of Gudupalle Mandal	CHITTOOR	RURAL	100	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
193	Uyyalawada Village on Kalugotla Road, Orvakal Mandal	KURNOOL	RURAL	100	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
194	Yellamanda Village, Yerravaripalem Mandal	CHITTOOR	RURAL	60	OPEN CC 1	DC	30	25	750	12	30	Draw of Lots	5	4
195	kothacheruvu village and mandal not on (dharmavaram- puttaparthi road)	ANANTAPUR	RURAL	140	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
196	Seetharamapuram Village and Mandal	NELLORE	RURAL	110	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
197	Within 5 Kms from Madanapalle town limits on Ramasamudram Road	CHITTOOR	RURAL	60	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
198	KUDERU VILLAGE AND MANDAL NOT ON (NH)	ANANTAPUR	RURAL	110	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
199	within 2kms from beluguppa MRO office towards kalyandurg	ANANTAPUR	RURAL	100	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
200	NALLAMADA VILLAGE ,NALLAMADA MANDAL NOT ON NH-	ANANTAPUR	RURAL	100	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
201	Nandikotkur Collage road to Vijaya Dairy on Midthur main road Road	KURNOOL	RURAL	80	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
202	ATMAKURU VILLAGE,ATMAKURU MANDAL NOT ON NH	ANANTAPUR	RURAL	100	SC CC 1	CFS	30	25	750	0	0	Draw of Lots	0	2
203	C Belegal Village Limits (C Belegal Mandal)	KURNOOL	RURAL	70	OBC CC 1	DC	30	25	750	12	30	Draw of Lots	5	3
204	Banaganapalli to Yagantipalle on Main road Banaganpalle	KURNOOL	RURAL	97	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
205	KOWTHALAM Village Limits	KURNOOL	RURAL	85	OPEN PH	DC	30	25	750	12	30	Draw of Lots	5	4
206	Gajulapalli Village, Thavanampalle Mandal	CHITTOOR	RURAL	80	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
207	Chennapallipalem Village, TP Gudur Mandal (not on SH)	NELLORE	RURAL	102	OBC	DC	30	25	750	12	30	Draw of Lots	5	3

	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	type of Site*	site (in Sq M	-	(Frontage x	applicant 9a v	e arranged by vorking capital, a capital	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
208	Rayalpeta Village, Peddapanjani Mandal	CHITTOOR	RURAL	105	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
209	Sanjamala Village Limits (Sanjamala Mandal)	KURNOOL	RURAL	50	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
210	on anantapur to alamur road within 2kms from rudrampet bypass towards alamur	ANANTAPUR	RURAL	120	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
211	Raajulakhandriga Village, KVB Puram Mandal	CHITTOOR	RURAL	60	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
212	GUDUR VILLAGE & MANDAL (ON KURNOOL ROAD)	KURNOOL	RURAL	75	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
213	Nandyal Rural on Moolasagram Rural Limits on Main Road Nandyal	KURNOOL	RURAL	150	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
214	maddikera village limits (maddikera mandal)	KURNOOL	RURAL	100	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
215	GARLADINNE VILLAGE ,GARLADINNE MANDAL NOT ON NH- 44	ANANTAPUR	RURAL	130	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
216	CEMENT NAGAR on Tamarajupalle road	KURNOOL	RURAL	87	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
217	HUSSAINPURAM VILLAGE LIMITS ON GANI ROAD	KURNOOL	RURAL	70	OPEN CC 1	DC	30	25	750	12	30	Draw of Lots	5	4
218	Gulladurthy Village on Koilakuntla Road	KURNOOL	RURAL	65	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
219	KANEKAL VILLAGE ,KANEKAL MANDAL NOT ON RAYADURG ROAD	ANANTAPUR	RURAL	100	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
220 221	KAKINADA BEACH ROAD ETCHERLA - SKLM TO VIZAG RHS	SRIKAKULAM	REGULAR REGULAR	205 330	OPEN OBC	CC	20 35	20 45	400 1575	25 25	10 10	Bidding Bidding	30 30	5 4
												Draw of		3
222	Palasa town on Gopili ROAD Amalapuram Town Limits	SRIKAKULAM EAST GODAVARI	REGULAR REGULAR	115 243	SC OPEN	CFS CC	20 20	20 20	400 400	0 25	0 10	Lots Bidding	0 30	5
224	Tallapalem to Ankapalli on NH - 16, (LHS towards vizag)	VISAKHAPATNAM	REGULAR	225	OPEN	СС	35	45	1575	25	10	Bidding	30	5
225	TALLUR TO MALLEPALLI ON NH LHS	EAST GODAVARI	REGULAR	170	OBC	CC	35	45	1575	25	10	Bidding	30	4
226 P	PENTAPADU ON TADEPALLIGUDEM TO ATTILLI ROAD , SH-42	WEST GODAVARI	REGULAR	105	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
227	Akiveedu on NH 165	WEST GODAVARI	REGULAR	255	OPEN	CC	35	45	1575	25	10	Bidding	30	5
228	Anakapalli to Lankelapalem on NH on LHS	VISAKHAPATNAM	REGULAR	285	OPEN	СС	25	20	500	25	10	Bidding	30	5
229	KAKINADA SARPAVARAM JN TO AUTONAGAR	EAST GODAVARI	REGULAR	230	OBC	CC	20	20	400	25	10	Bidding	30	4
230	Anakapalli Town Limits (Not on NH)	VISAKHAPATNAM	REGULAR	240	OPEN	СС	25	20	500	25	10	Bidding Draw of	30	5
231	VAKALPUDI, KAKINADA MUNICIPALITY LIMITS	EAST GODAVARI	REGULAR	143	SC	CFS	20	20	400	0	0	Lots	0	3
232	GAJUWAKA JUNCTION TO SHEELA NAGAR JN ON NH	VISAKHAPATNAM	REGULAR	330	ОВС	СС	20	20	400	25	10	Bidding Draw of	30	4
233	Kovvur within municipality limits	WEST GODAVARI	REGULAR	180	OPEN CC 1	DC	20	20	400	25	45	Lots	15	5
234	Rajamundry city (within Municipality Limits)	EAST GODAVARI	REGULAR	230	OPEN	CC	20	20	400	25	10	Bidding Draw of	30	5
235	Payakaraopeta, Vishakhapatnam	VISAKHAPATNAM	REGULAR	130	SC	CFS	30	25	750	0	0	Lots Draw of	0	3
236	Palakollu town limits	WEST GODAVARI	REGULAR	110	OBC	DC	20	20	400	25	45	Lots	15	4
237 T	TETAGUNTA JUNCTION TO ANNAVARAM ONE HOTEL NH LHS Kothakalava Bus Stop to Mummidivaram - LHS on NH	EAST GODAVARI	REGULAR REGULAR	175 150	OPEN OPEN	CC CC	35 35	45 45	1575 1575	25 25	10 10	Bidding Bidding	30 30	5

SI. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	type of Site*	site (in Sq N	•	(Frontage x	applicant 9a	be arranged by working capital, a capital	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
239	Nidadavole within municipality limits	WEST GODAVARI	REGULAR	140	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
240	PEDDAPURAM MUNICIPALITY LIMITS	EAST GODAVARI	REGULAR	133	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
241	KAKINADA TOWN - SARPAVARAM JN TO ADB ROAD ON LHS	EAST GODAVARI	REGULAR	318	OPEN	СС	20	20	400	25	10	Bidding	30	5
242	TAGARAPUVALASA NOT ON NH	VISAKHAPATNAM	REGULAR	120	OPEN CC 2	DC	20	20	400	25	45	Draw of Lots	15	5
243	SANTOSHPURAM VILLAGE ON SH 37, Garugubilli Mandal	SRIKAKULAM	REGULAR	125	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
244	TURANGI TO TALLAREVU ON LHS ON NH-216	EAST GODAVARI	REGULAR	180	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
245	Road connecting NH16 and Ramco cements Itd, Vizag Grinding plant not on NH16,near narsinghapalli	VISAKHAPATNAM	REGULAR	306	OPEN	сс	30	25	750	25	10	Bidding	30	5
246	YELAMANCHILI ON NH 16 (LHS TOWARDS RAJAHMUNDRY)	VISAKHAPATNAM	REGULAR	165	OPEN	сс	35	45	1575	25	10	Bidding Draw of	30	5
247	Rajam Town on Palkonda Road Arikathota Village, Gajapathi Nagaram To Rambhadrapuram	SRIKAKULAM	REGULAR	120	OBC	DC	20	20	400	25	45	Lots Draw of	15	4
248	LHS ON NH	VIZIANAGARAM	REGULAR	280	ST	CFS	35	45	1575	0	0	Lots	0	3
249	KURMANAPALEM TO DUVVADA RAILWAY STATION ROAD	VISAKHAPATNAM	REGULAR	350	OPEN	сс	25	20	500	25	10	Bidding	30	5
250	VIZAG CITY	VISAKHAPATNAM	REGULAR	300	OPEN	СС	20	20	400	25	10	Bidding Draw of	30	5
251	KASIBUGGA OLD NH ROAD (NOT ON NH-5 (NEW NO 16))	SRIKAKULAM	REGULAR	120	OBC	DC	30	25	750	25	45	Lots	15	4
252	MADDILAPALEM IN TO NAD IN ON EITHER SIDE	VISAKHAPATNAM	REGULAR	300	OPEN	СС	20	20	400	25	10	Bidding Draw of	30	5
253	MANDAPETA TO DWARPUDI Rajapulova to Vizianagaram,on NH, LHS Towards	EAST GODAVARI	REGULAR	104	SC	CFS	20	20	400	0	0	Lots	0	3
254	Vizianagram	VIZIANAGARAM	REGULAR	390	OPEN	СС	35	45	1575	25	10	Bidding Draw of	30	5
255	JEEGIRAM- ON NH EITHER SIDE OF THE ROAD. Within 5 Kms from Ravulapalem APSRTC bus station	VIZIANAGARAM	REGULAR	180	OBC	DC	35	45	1575	25	75	Lots Draw of	15	4
256	towards Kothapeta Road	EAST GODAVARI	REGULAR	100	OPEN CC 1	DC	35	35	1225	25	60	Lots Draw of	15	5
257	Bobbili town, within muncipal limit	VIZIANAGARAM	REGULAR	130	SC	CFS	20	20	400	0	0	Lots	0	3
258	Mandapeta town limits	EAST GODAVARI	REGULAR	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
259	GAJAPATHI NAGARAM - TOWN PANCHAYAT LIMITS -ON NH 26 (OLD NO 43)	VIZIANAGARAM	REGULAR	195	OPEN	СС	35	45	1575	25	10	Bidding	30	5
260	SRIKAKULAM TOWN, MUNCIPAL LIMIT	SRIKAKULAM	REGULAR	200	OPEN	СС	20	20	400	25	10	Bidding Draw of	30	5
261	AMUDALAVALASA TOWN, WITHIN Muncipal limit	SRIKAKULAM	REGULAR	130	OBC	DC	20	20	400	25	45	Lots Draw of	15	4
262	JADDANGI VILLAGE ON SH-38	EAST GODAVARI	REGULAR	110	ST	CFS	35	35	1225	0	0	Lots	0	3
263	APIIC-AUTONAGAR LIMITS NOT ON NH 16 HANUMANTHAWAKA IN TO ADIVIVARAM IN ON	VISAKHAPATNAM	REGULAR	350	OPEN	СС	20	20	400	25	10	Bidding	30	5
264	SIMHACHALAM TO HANUMANTHAWAKA BRTS RD.	VISAKHAPATNAM	REGULAR	300	OPEN	СС	20	20	400	25	10	Bidding Draw of	30	5
265	Ramachandrapuram	EAST GODAVARI	REGULAR	147	ОВС	DC	20	20	400	25	45	Lots Draw of	15	4
266	Rajapulova Jn to Nathavalasa Toll Plaza on NH16	VIZIANAGARAM	REGULAR	300	SC	CFS	35	45	1575	0	0	Lots	0	3

SI. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	type of Site*	site (in Sq M	•	(Frontage x	applicant 9a v	be arranged by working capital, a capital	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
267	SIMHACHALAM RTC BUS DEPOT TO PRAHALADHAPURAM	VISAKHAPATNAM	REGULAR	300	OPEN	СС	20	20	400	25	10	Bidding	30	5
268	NAD JN TO PENDURTHI JN ON LHS.	VISAKHAPATNAM	REGULAR	320	OPEN	СС	20	20	400	25	10	Bidding	30	5
269	JAGARAM TO S KOTA	VISAKHAPATNAM	REGULAR	180	OBC PH	DC	35	35	1225	25	60	Draw of Lots	15	4
270	CINEMA ROAD (KAKINADA CITY)	EAST GODAVARI	REGULAR	230	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	3
271	GITAM COLLEGE TO THOTLAKONDA ON BEACH ROAD	VISAKHAPATNAM	REGULAR	300	OPEN	СС	20	20	400	25	10	Bidding	30	5
272	VUDA PARK TO TENNETI PARK Y JUNCTION ON EITHER SIDE	VISAKHAPATNAM	REGULAR	280	OPEN	СС	20	20	400	25	10	Bidding	30	5
273	Rajapudi Village on SH	EAST GODAVARI	REGULAR	122	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
274	MIDHILAPURI COLONY 100 FEET ROAD IN VIZAG. GAITHULA CHODAVARAM VILLAGE, NH LHS TOWARDS	VISAKHAPATNAM	REGULAR	270	OPEN	СС	20	20	400	25	10	Bidding Draw of	30	5
275	VISAKHAPATNAM	VIZIANAGARAM	REGULAR	550	SC	CFS	35	45	1575	0	0	Lots	0	3
276	CAR SHED JUNCTION TO MARIKAVALASA ON NH	VISAKHAPATNAM	REGULAR	310	OPEN	СС	20	20	400	25	10	Bidding Draw of	30	5
277	PENUGONDA TO PERAVALI ON SH 109	WEST GODAVARI	REGULAR	150	OBC	DC	35	35	1225	25	60	Lots	15	4
278	MARIKAVALASA TO PEDDIPALEM ON EITHER SIDE ON NH	VISAKHAPATNAM	REGULAR	300	OPEN	СС	20	20	400	25	10	Bidding Draw of	30	5
279	Ugginapalem Village on NH	VISAKHAPATNAM	REGULAR	223	SC	CFS	35	45	1575	0	0	Lots Draw of	0	3
280	Samalkot town limits	EAST GODAVARI	REGULAR	105	OBC	DC	20	20	400	25	45	Lots	15	4
281	Bhimavaram to Palakollu on NH 165	WEST GODAVARI	REGULAR	250	OPEN	CC	35	45	1575	25	10	Bidding	30	5
282	Regidi, Amadalvalasa on SH	SRIKAKULAM	REGULAR	164	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
283	Chepuru village, Tuni Mandal NH16 , RHS on Tuni to Annavaram	EAST GODAVARI	REGULAR	208	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
284	MAREDUMILLI ON SH-41	EAST GODAVARI	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
285	CAR SHED ROAD, POTHINAMALLAYA PALEM	VISAKHAPATNAM	REGULAR	310	OPEN	СС	20	20	400	25	10	Bidding	30	5
286	MADHURAWADA TO KOMMADI 100 FT ROAD	VISAKHAPATNAM	REGULAR	310	OPEN	СС	20	20	400	25	10	Bidding Draw of	30	5
287	Matsyapuri Narsapur on SH	WEST GODAVARI	REGULAR	120	OBC	DC	35	35	1225	25	60	Lots Draw of	15	4
288	Yelamanchili Town limits	VISAKHAPATNAM	REGULAR	115	sc	CFS	30	25	750	0	0	Lots	0	3
289	Ramachandrarao peta, Eluru town	WEST GODAVARI	REGULAR	200	OPEN	CC	20	20	400	25	10	Bidding	30	5
290	Srikakulam Town, Between seven road jn to Day night junction	SRIKAKULAM	REGULAR	160	OPEN	СС	20	20	400	25	10	Bidding	30	5
291	KRISHNAYAPALEM VILLAGE ON NIDADAVOLE - TADEPALLIGUDEM ROUTE (NH)	WEST GODAVARI	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
292	VIZIANAGARAM TOWN MUNCIPAL LIMIT	VIZIANAGARAM	REGULAR	120	OBC CC 1	DC	20	20	400	25	45	Draw of Lots	15	4
293	Salur Town, Within muncipal limit	VIZIANAGARAM	REGULAR	150	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
294	MOGALTHUR ON NH 216	WEST GODAVARI	REGULAR	200	OPEN PH	CC	35	45	1575	25	10	Bidding	30	5
295	Y JUNCTION, BODASAKURU ROAD, AMALAPURAM	EAST GODAVARI	REGULAR	205	OBC	DC	20	20	400	25	45	Draw of Lots	15	4

SI. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	type of Site*	site (in Sq M		(Frontage x	applicant 9a v	pe arranged by working capital, a capital	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
296	Patrunivalasa Village, Srikakulam Mandal on NH16	SRIKAKULAM	REGULAR	195	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
207	T		DECI II AD	460		CFC	25	4.5	4575			Draw of		
297	Tarapuram Village, NH LHS towards Salur Srikakulam Town on Day night juntion to Ramlaxmana	VIZIANAGARAM	REGULAR	160	SC	CFS	35	45	1575	0	0	Lots Draw of	0	3
298	theater road	SRIKAKULAM	REGULAR	150	OPEN	DC	20	20	400	25	45	Lots	15	5
												Draw of		
299	NATHAVARAM	VISAKHAPATNAM	REGULAR	124	OBC	DC	30	25	750	25	45	Lots	15	4
300	KATHIPUDI TO JAGGAAMPETA ON NH 16	EAST GODAVARI	REGULAR	190	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
301	eluru town limits	WEST GODAVARI	REGULAR	140	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
302	PAPAMPETA VILLAGE ON SH-38	EAST GODAVARI	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
202	NARCIDATNIANA TO CUINITARALLI	MICAKIJABATNIASA	DECLUAD	120	one	DC	25	25	1225	25		Draw of	45	
303	NARSIPATNAM TO CHINTAPALLI	VISAKHAPATNAM	REGULAR	120	OBC	DC	35	35	1225	25	60	Lots Draw of	15	4
304	ICHAPURAM TOWN (not on NH)	SRIKAKULAM	REGULAR	135	OPEN	DC	30	25	750	25	45	Lots	15	5
305	CHINNAPURAM JUNCTION, VIZIANAGARAM	VIZIANAGARAM	REGULAR	110	OPEN CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
306	Rekhavanipalem	EAST GODAVARI	REGULAR	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
307	Peddapuram to Rangampeta on ADB Road	EAST GODAVARI	REGULAR	110	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
												Draw of		
308	Bobbili to Antipeta ON SH	VIZIANAGARAM	REGULAR	150	OPEN	DC	35	35	1225	25	60	Lots Draw of	15	5
309	YERNAGUDEM TO DEVARAPALLI ON NH (RHS)	EAST GODAVARI	REGULAR	215	OPEN	DC	35	45	1575	25	75	Lots	15	5
	, ,											Draw of		
310	PITHAPURAM TOWN LIMITS	EAST GODAVARI	REGULAR	220	OBC	DC	20	20	400	25	45	Lots	15	4
311	YERRAGUNTAPALLI TOWARDS ALLIPALLI ON SH 43	WEST GODAVARI	REGULAR	105	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
												Draw of		
312	Divancheruvu, Rajahmundry	EAST GODAVARI	REGULAR	210	OPEN	DC	35	45	1575	25	75	Lots	15	5
313	Kakarapalli on Tuni Narsipatnam Road	EAST GODAVARI	REGULAR	214	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
515					0			"	1223			Draw of		
314	Someswaram to Rajanagaram Road near Rayavaram	EAST GODAVARI	REGULAR	170	OBC	DC	20	20	400	25	45	Lots	15	4
315	Amalapuram to Bodasukurru on either side ON NH	EAST GODAVARI	REGULAR	240	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
												Draw of		
316	VENKANNAPALEM TO SABBAVARAM ON RHS	VISAKHAPATNAM	REGULAR	120	OPEN	DC	35	35	1225	25	60	Lots	15	5
317	Cinema Hall Jn to NTPC Jn on Gajuwaka to Yeamanchili Road	VISAKHAPATNAM	REGULAR	152	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
318	Prathipadu to Samalkot Village limits on RHS	EAST GODAVARI	REGULAR	160	ОВС	DC	35	35	1225	25	60	Draw of Lots	15	4
319	BHUPATHIPALEM VILLAGE ON SH-41	EAST GODAVARI	REGULAR	120	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
				120		5.5		"				Draw of		
320	Tekkali Town (Old NH Road)	SRIKAKULAM	REGULAR	145	OPEN	DC	20	20	400	25	45	Lots	15	5
321	GADAALA VILLAGE ON SH-41	EAST GODAVARI	REGULAR	160	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
322	Ramalaxmana to Pedapadu Jn, Srikakulam town.	SRIKAKULAM	REGULAR	180	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5

SI. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	type of Site*	site (in Sq M	-	(Frontage x	applicant 9a v	pe arranged by working capital, a capital	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
323	Adda Road - Revupolavaram Jn - Not on NH	VISAKHAPATNAM	REGULAR	115	OPEN	DC	30	25	750	25	45	Draw of Lots	15	5
324	Kotavuratla	VISAKHAPATNAM	REGULAR	110	sc	CFS	30	25	750	0	0	Draw of Lots	0	3
325	K KOTAPADU TO PINAGADI	VISAKHAPATNAM	REGULAR	121	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
226				420	0051		35	25	4225	25	60	Draw of		_
326	Therlam to Rajam on SH	VIZIANAGARAM VIZIANAGARAM	REGULAR REGULAR	130 160	OPEN OPEN	DC DC	35	35 45	1225 1575	25 25	75	Lots Draw of Lots	15 15	5
328	Vizianagaram to Gajapathinagaram on NH LHS Talapalem to Yellamanchili on NH-16, Vishakhapatnam	VISAKHAPATNAM	REGULAR	300	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
329	TADEPALLIGUDEM TOWN	WEST GODAVARI	REGULAR	120	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
330				230	OPEN	DC	35	35	1225	25	60	Draw of	15	5
330	DOMMERU TO PANGIDI ON SH RAJAVOMMANGI ON DEVIPATNAM - NARSIPATNAM ROAD ,	WEST GODAVARI	REGULAR	230	UPEN	DC	35	35	1225	25	60	Lots Draw of	15	5
331	SH-38.	EAST GODAVARI	REGULAR	108	OPEN CC 1	DC	35	35	1225	25	60	Lots Draw of	15	5
332	PALAKONDA TOWN ON SEETHAMPETA ROAD	SRIKAKULAM	REGULAR	120	OBC	DC	20	20	400	25	45	Lots	15	4
333	Paderu to Munchingputtu	VISAKHAPATNAM	REGULAR	125	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
334	DEVARAPALLY VILLAGE, RAVULAPALEM MANDAL ON SH	EAST GODAVARI	REGULAR	245	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
335	Tadepalligudem on NH, Beside Sakshi Head Office	WEST GODAVARI	REGULAR	235	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
336	KALINGAPATNAM village , srikakulam district.	SRIKAKULAM	REGULAR	125	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
337	TUNI TO YERRAVARAM ON NH-16 (ON BOTH SIDES)	EAST GODAVARI	REGULAR	230	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
338	Jalagalamadhum Junction, Anakapalli	VISAKHAPATNAM	REGULAR	160	OPEN	DC	25	20	500	25	60	Draw of Lots	15	5
339	Annavaram	EAST GODAVARI	REGULAR	174	OPEN	DC	30	25	750	25	45	Draw of Lots	15	5
340	AMBAJIPETA - AMALAPURAM ROAD (WITHIN 2KM FROM AMBAJIPETA JN)	EAST GODAVARI	REGULAR	135	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
341	AMALAPURAM TO MAMIDIKUDURU ROAD	EAST GODAVARI	REGULAR	120	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
342	sitanagaram to surammapeta jn on SH 36	VIZIANAGARAM	REGULAR	130	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
343	ILTD Junction to Vemagiri Junction on Dowleswaram Road , Rajahmundry	EAST GODAVARI	REGULAR	110	OPEN CC 2	DC	20	20	400	25	45	Draw of Lots	15	5
344	SRIKAKULAM TOWN, BETWEEN NEW BRIDG & NAV BHARAT Jn NOT ON NH	SRIKAKULAM	REGULAR	115	OBC CC 1	DC	20	20	400	25	45	Draw of Lots	15	4
345	MORAMPUDI JN TO SATELLITE CITY, RAJAHMUNDRY	EAST GODAVARI	REGULAR	150	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
346	ANAKAPALLI - PUDIMADAKA	VISAKHAPATNAM	REGULAR	185	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
347	NARASANNAPETA TOWN	SRIKAKULAM	REGULAR	162	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
348	ANKAPALLE TO LANKELAPALEM ON NH RHS	VISAKHAPATNAM	REGULAR	191	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
	KORUMAMIDI VILLAGE ON NIDADAVOLE TO YERNAGUDEM											Draw of		
349	on SH	WEST GODAVARI	REGULAR	125	OPEN	DC	35	35	1225	25	60	Lots	15	5

SI. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	type of Site*	site (in Sq M	-	(Frontage x	applicant 9a v	pe arranged by working capital, a capital	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
350	LHS towards Gandhipuram Jn on Ramalayam Jn to Gandhipuram Jn R&B Road , Rajahmundry	EAST GODAVARI	REGULAR	170	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
351	Narsapur Town	WEST GODAVARI	REGULAR	122	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
	TEEPARRU VILLAGE ON NIDADAVOLE TO NARSAPUR ROAD,											Draw of		
352	SH-109 SAMISRAGUDEM VILLAGE ON NIDADAVOLE TO	WEST GODAVARI	REGULAR	160	OPEN	DC	35	35	1225	25	60	Lots Draw of	15	5
353	NARSAPURAM ROAD, SH - 109	WEST GODAVARI	REGULAR	105	OPEN	DC	35	35	1225	25	60	Lots	15	5
354	Bhyri Village on Nh 16	SRIKAKULAM	REGULAR	170	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
355	VEPAGUNTA JN TO PINAGADI JN	VISAKHAPATNAM	REGULAR	230	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
356	Jalluru village	VISAKHAPATNAM	REGULAR	108	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
357	VISALAKSHI NAGAR(ALLURI SITARAMARAJU MARG ROAD) NOT ON NH 16 AND BEACH ROAD	VISAKHAPATNAM	REGULAR	210	OPEN CC 1	DC	20	20	400	25	60	Draw of Lots	15	5
358	Chilakapalem to Ranasthalam on NH-16	SRIKAKULAM	REGULAR	155	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
	RAJAHMUNDRY(A.V APPARAO ROAD JUNCTION to											Draw of		
359	GANDHIPURAM JUNCTION) SARPAVARAM JUNCTION TO ACHAMPETA JUNCTION-	EAST GODAVARI	REGULAR	140	SC	CFS	20	20	400	0	0	Lots Draw of	0	3
360	KAKINADA	EAST GODAVARI	REGULAR	230	OPEN	DC	20	20	400	25	45	Lots Draw of	15	5
361	Yadava Jaggarajupeta	VISAKHAPATNAM	REGULAR	350	OPEN	DC	25	20	500	25	60	Lots Draw of	15	5
362	KAKINADA TO SAMALKOT (ON CANAL ROAD)	EAST GODAVARI	REGULAR	110	ОВС	DC	30	25	750	25	45	Lots Draw of	15	4
363	palasa town- within municipality limits not on NH.	SRIKAKULAM	REGULAR	120	OPEN	DC	20	20	400	25	45	Lots	15	5
364	Bhimavaram Town(with in municipal limits)	WEST GODAVARI	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
365	Kakinada Town Limits	EAST GODAVARI	REGULAR	220	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
366	RAJAHMUNDRY , JAWAHARLAL NEHRU ROAD JN to RAMALAYAM JN on JAWAHARLAL NEHRU ROAD	EAST GODAVARI	REGULAR	290	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
367	TUNI TOWN	EAST GODAVARI	REGULAR	130	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
368	Ainada Junction, Denkada Mandal	VIZIANAGARAM	REGULAR	160	ST PH	CFS	35	45	1575	0	0	Draw of Lots	0	3
306	RAJAHMUNDRY , A.V APPARAO ROAD JUNCTION to	VILIANAUARAIVI	REGULAR	100	31 7 11	CF3	35	45	13/3	0	U	Draw of	U	
369	RAMALAYAM JUNCTION on A.V APPARAO ROAD	EAST GODAVARI	REGULAR	140	OBC PH	DC	20	20	400	25	45	Lots Draw of	15	4
370	Madepalli - Eluru to kaikulur Road	WEST GODAVARI	REGULAR	120	OPEN	DC	35	35	1225	25	60	Lots Draw of	15	5
371	KATHIPUDI TO THIMMAPURAM ON NH- 216 (ON LHS)	EAST GODAVARI	REGULAR	250	OPEN	DC	35	45	1575	25	75	Lots	15	5
372	RAJAHMUNDRY,RTC COMPLEX ROAD,RHS ON MORAMPUDI JN TO TADITHOTA CENTRE	EAST GODAVARI	REGULAR	370	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
373	Rajahmundry Airport to Burugupudi Junction on Rampachodavaram Road , SH-41	EAST GODAVARI	REGULAR	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
374	KATHIPUDI TO THIMMAPURAM ON NH-216 (ON RHS)	EAST GODAVARI	REGULAR	250	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
375	RAVIKAMATHAM TO WADDADI JUNCTION ON SH-38	VISAKHAPATNAM	REGULAR	160	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
												Draw of		
376	Within Narsipatnam town limits	VISAKHAPATNAM	REGULAR	120	OBC	DC	20	20	400	25	45	Lots	15	4

SI. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	type of Site*	site (in Sq M		(Frontage x	applicant 9a v	be arranged by working capital, a capital	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
377	Samalkota to G Medapadu	EAST GODAVARI	REGULAR	103	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
378	ARILOVA,VIZAG CITY	VISAKHAPATNAM	REGULAR	220	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
379	Mangamaripeta to Bheemunipatnam on Beach Road	VISAKHAPATNAM	REGULAR	200	OPEN	DC	20	20	400	25	60	Draw of Lots Draw of	15	5
380	LAKKAVARAPU KOTA TO SRUNGAVARAPU KOTA ON SH	VIZIANAGARAM	REGULAR	180	OPEN	DC	35	35	1225	25	60	Lots Draw of	15	5
381	KANTAKAPALLI TO BHIMASINGHI CHINTURU ON RAJAHMUNDRY - BHADRACHALAM	VIZIANAGARAM	REGULAR	180	OBC	DC	35	35	1225	25	60	Lots Draw of	15	4
382	HIGHWAY ROAD , SH-41	EAST GODAVARI	REGULAR	140	SC	CFS	35	35	1225	0	0	Lots	0	3
383	Vizianagram town, Fort junction to Dasannapeta Raithu bazar.	VIZIANAGARAM	REGULAR	150	OPEN CC 1	DC	30	25	750	25	45	Draw of Lots	15	5
384	Parwada, Vishakhapatnam	VISAKHAPATNAM	REGULAR	180	OBC	DC	30	25	750	25	45	Draw of Lots	15	4
385	WADDADI TO PADERU	VISAKHAPATNAM	REGULAR	120	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
386	RAMANNAPALEM VILLAGE (ON RHS ON ASWARAOPETA- JANGAREDDYGUDEM ROAD), JEELUGUMILLI MANDAL	WEST GODAVARI	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
387	BHEEMUNIPATNAM TOWN LIMITS	VISAKHAPATNAM	REGULAR	190	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
388	Parwada to Lankanepalem	VISAKHAPATNAM	REGULAR	140	ОВС	DC	35	35	1225	25	60	Draw of Lots	15	4
389	Tanuku Town	WEST GODAVARI	REGULAR	180	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
390	Rajanagaram to Donthamuru LHS (Not in Donthamuru Village limits)	EAST GODAVARI	REGULAR	115	OPEN	DC	35	35	1225	25	60	Draw of Lots Draw of	15	5
391	PIPPARA TO ATHILI(LHS)	WEST GODAVARI	REGULAR	106	SC CC 1	CFS	35	35	1225	0	0	Lots	0	3
392	Tekkali - main road - Govt degree college to police station	SRIKAKULAM	REGULAR	170	OBC CC 1	DC	20	20	400	25	45	Draw of Lots Draw of	15	4
393	Attili to Marteru (On SH)	WEST GODAVARI	REGULAR	120	OPEN	DC	35	35	1225	25	60	Lots	15	5
394	SIMHACHALAM TO SONTYAM ON SIMHACHALAM- SONTYAM RD	VISAKHAPATNAM	REGULAR	180	OPEN PH	DC	20	20	400	25	60	Draw of Lots	15	5
395	RAJAHMUNDRY,RTC COMPLEX ROAD,LHS ON MORAMPUDI JN TO TADITHOTA CENTRE	EAST GODAVARI	REGULAR	160	SC	CFS	20	20	400	0	0	Draw of Lots Draw of	0	3
396	Dwarapudi Village , LHS on Dwarapudi to Kakinada , SH-40 BHIMAVARAM TO GOLLAVANITIPPA(ON SH), BHIMAVARAM	EAST GODAVARI	REGULAR	200	ОВС	DC	35	35	1225	25	60	Lots Draw of	15	4
397	MANDAL Korukonda Village on Rajahmundry to Bhadrachalam Road ,	WEST GODAVARI	REGULAR	115	OPEN	DC	35	35	1225	25	60	Lots Draw of	15	5
398	SH-41.	EAST GODAVARI	REGULAR	210	ОВС	DC	35	35	1225	25	60	Lots Draw of	15	4
399	PALAKOLLU TO MARTERU ON SH	WEST GODAVARI	REGULAR	134	SC	CFS	35	35	1225	0	0	Lots Draw of	0	3
400	RAMCHERLAGUDEM TO BAYYANNAGUDEM ON SH	WEST GODAVARI	REGULAR	110	OPEN	DC	35	35	1225	25	60	Lots	15	5
401	Vijayawada City (Chanumolu Venkatarao Bridge to YSR Colony Main Road)	KRISHNA	REGULAR	300	OPEN	СС	20	20	400	25	10	Bidding Draw of	30	5
402	VIJAYAWADA CITY (PAYAKAPURAM TO KANDRIKA) within 5 kms from Machilipatnam Mudustambala Centre	KRISHNA	REGULAR	150	OPEN	DC	20	20	400	25	60	Lots	15	5
403	towards Vijayawada on NH-65	KRISHNA	REGULAR	210	OBC	сс	35	45	1575	25	10	Bidding	30	4

SI. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	type of Site*	site (in Sq N		(Frontage x	applicant 9a v	be arranged by working capital, a capital	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
404	NANDIGAMA TOWN NOT ON NH	KRISHNA	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
405	KAPTHANUPALEM, MOPIDEVI MANDAL (NH 216)	KRISHNA	REGULAR	150	OPEN	СС	35	45	1575	25	10	Bidding	30	5
	, ,											Draw of		
406	Gudivada town (not NH and SH)	KRISHNA	REGULAR	120	OPEN CC 1	DC	20	20	400	25	45	Lots	15	5
	VIJAYAWADA CITY (FROM BALLEM VARI STREET,											Draw of		
407	RAMAVARAPPADU TOWARDS AUTONAGAR)	KRISHNA	REGULAR	175	ОВС	DC	20	20	400	25	60	Lots	15	4
	Piduguralla town (Not on SH) on Pilutla road, within town											Draw of		
408	limits	GUNTUR	REGULAR	120	ST	CFS	20	20	400	0	0	Lots	0	3
												Draw of		
409	IBRAHIMPATNAM TO KATTUBADIPALEM ON LHS (NH 30)	KRISHNA	REGULAR	250	OPEN	DC	35	45	1575	25	75	Lots	15	5
	JAGGAYYAPETA TOWN (FROM PATAPETA TO											Draw of		
410	K.AGRAHARAM ROAD)-WITHIN MUNCIPAL LIMITS	KRISHNA	REGULAR	150	OBC	DC	20	20	400	25	45	Lots	15	4
411	GOLLAPUDI TO IBRAHIMPATNAM ON LHS (NH65)	KRISHNA	REGULAR	350	OPEN	CC	35	45	1575	25	10	Bidding	30	5
412	Machilipatnam (Bypass Road - Housing Board Colony)	KRISHNA	REGULAR	250	OPEN	CC	20	20	400	25	10	Bidding	30	5
												Draw of		
413	Pathapadu, Vijayawada Rural	KRISHNA	REGULAR	120	SC	CFS	30	25	750	0	0	Lots	0	3
												Draw of		
414	CHILLAKALLU ON SH, TOWARDS VATSAVAI	KRISHNA	REGULAR	150	OBC	DC	35	35	1225	25	60	Lots	15	4
												Draw of		
415	NAGAYALANKA on SH	KRISHNA	REGULAR	150	OPEN	DC	35	35	1225	25	60	Lots	15	5
												Draw of		
416	KUCHIPUDI	KRISHNA	REGULAR	100	OPEN	DC	35	35	1225	25	60	Lots	15	5
	WITHIN 2 KMS OF ATKINSON SCHOOL, GOLLAPUDI (NOT ON											Draw of		
417	NH)	KRISHNA	REGULAR	225	SC	CFS	20	20	400	0	0	Lots	0	3
												Draw of		
418	Machilipatnam Town (Circle Pet)	KRISHNA	REGULAR	250	OBC	DC	20	20	400	25	45	Lots	15	4
419	VIJAYAWADA CITY (BENZ CIRCLE TO KAMAYYATOPU)	KRISHNA	REGULAR	300	OPEN	CC	20	20	400	25	10	Bidding	30	5
	VIJAYAWADA CITY (YSR JUNCTION TO PAYAKAPURAM ON													
420	INNER RING ROAD)	KRISHNA	REGULAR	220	OPEN	CC	20	20	400	25	10	Bidding	30	5
	VIJAYAWADA CITY ON BRTS ROAD (MEESALA BRIDGE TO											Draw of		
421	ELURU ROAD JN)	KRISHNA	REGULAR	300	OBC	DC	20	20	400	25	60	Lots	15	4
	VIJAYAWADA CITY (WITHIN 2 KM FROM PAMULAKALUVA											Draw of		
422	ON MAIN ROAD IN CITY LIMITS)	KRISHNA	REGULAR	170	SC	CFS	20	20	400	0	0	Lots	0	3
				1								Draw of	1	
423	VIJAYAWADA (PAYAKAPURAM TO NUNNA)	KRISHNA	REGULAR	220	OPEN	DC	20	20	400	25	60	Lots	15	5
	Kamineni Hospital Road (New Autonagar Road), Poranki,													_
424	Vijayawada	KRISHNA	REGULAR	300	OPEN	CC	20	20	400	25	10	Bidding	30	5
425	VIJAYAWADA CITY (AJITSINGH NAGAR FLYOVER TO Railway	WDIG: INIA	DECLU AT	250	000		20	20	400	25		Draw of	1 45	,
425	Station)	KRISHNA	REGULAR	250	OBC	DC	20	20	400	25	60	Lots	15	4
420	Addonki town on Kosyon Deed (Net en CV)	DDAVACAAA	DECLUAR	110	C-	CEC	20	20	400			Draw of		,
426 427	Addanki town on Kasyapuram Road (Not on SH) M.G. ROAD, VIJAYAWADA	PRAKASAM KRISHNA	REGULAR REGULAR	110 250	ST OPEN	CFS CC	20	20	400 400	0 25	10	Lots	30	3 5
427	M.G. ROAD, VIJAYAWADA Ibrahimpatnam to Gollapudi on LHS (NH-65)	KRISHNA	REGULAR	400	OPEN	CC	35	45	1575	25	10	Bidding Bidding	30	5
440	ioranimpatriam to Goriapuui on Lno (Nn-65)	ANIDEIAN	REGULAR	400	OPEN		33	45	13/3	25	10	Draw of	30	3
429	Machilipatnam Town on Police Ground to 7ila assisted Board	KRISHNA	REGULAR	250	OBC	DC	20	20	400	25	45	Lots	15	4
429	Machilipatnam Town on Police Ground to Zila parishad Road	ANHCIAA	REGULAR	250	OBC	DC	20	20	400	25	45	Draw of	15	4
430	Kanchikacharla Bypass	KRISHNA	REGULAR	272	OPEN	DC	35	45	1575	25	75	Lots	15	5
430	nancinnaciidfid Dypass	ANIDEIAN	REGULAR	2/2	OPEN	DC	33	45	13/3	25	/3	Draw of	13	3
431	ASHOK NAGAR, VIJAYAWADA	KRISHNA	REGULAR	250	SC	CFS	20	20	400	0	0	Lots	0	3
431	AJIION NAGAN, VIJATAWADA	RNIJHIM	NEGOLAR	230	J.	CF3	20	20	700	, , , , , , , , , , , , , , , , , , ,	 	Draw of	 	3
432	GANNAVARAM (NOT ON NH)	KRISHNA	REGULAR	120	OBC	DC	30	25	750	25	45	Lots	15	4
732	Within 3 kms on RHS from Ayyappa Swamy Temple towards	MASSINA	MEGGEAIN	120	Jobc	- 50	30	1 23	, 50	-23	+ -3	Draw of	 	-
433	Issapalem on Narasaraopet Sattenapalli road	GUNTUR	REGULAR	100	OPEN CC 1	DC	30	25	750	25	45	Lots	15	5
+33	issapaiem on ivarasaraopet sattenapam rodu	GOMION	MEGOLAR	100	OF LIVICE I	I DC	1 30	1 23	1 , 30	1 23	1 73	LUIS	1 13	

SI. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	type of Site*	site (in Sq M		(Frontage x	applicant 9a v	be arranged by working capital, a capital	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
434	NUNNA TO ADAVINEKKALAM ON SH	KRISHNA	REGULAR	150	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
												Draw of		
435	Sithara Centre, Vidhyadharapauram	KRISHNA	REGULAR	250	SC	CFS	20	20	400	0	0	Lots	0	3
436	Konathanapadu village on NH-65 (LHS from Kankipadu to Vuyyuru)	KRISHNA	REGULAR	200	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
430	vuyyuruj	KKISHIVA	REGULAR	200	OBC	DC	33	45	13/3	23	/3	Draw of	15	
437	VISSANNAPETA NOT ON SH	KRISHNA	REGULAR	150	OPEN	DC	20	20	400	25	45	Lots	15	5
												Draw of		
438	KALIDINDI on SH	KRISHNA	REGULAR	180	OPEN	DC	35	35	1225	25	60	Lots	15	5
439	Vuyyuru not on NH	KRISHNA	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	Repalle town(within 2 kms from post office towards											Draw of		
440	penumudi on Repalle-Puligada road)	GUNTUR	REGULAR	141	OBC	DC	20	20	400	25	45	Lots	15	4
441	Kotha Pedamaddali (Pamarru to Gudivada on NH 214 LHS)	KRISHNA	REGULAR	200	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
442	VIJAYAWADA CITY(ON ELURU ROAD)	KRISHNA	REGULAR	160	OPEN CC 2	CC	20	20	400	25	10	Bidding	30	5
	PEDA ULLAGALLU VILLAGE ON SH-51; MUNDLAMUR				2. 2. 7 00 2	- 30			1.00			Draw of	1 20	
443	MANDAL; PRAKASAM DISTRICT	PRAKASAM	REGULAR	101	OBC CC 1	DC	35	35	1225	25	60	Lots	15	4
	Within 2 kms from Mothadaka Village, Tadikonda Mandal											Draw of		
444	on LHS towards Amaravathi	GUNTUR	REGULAR	137	SC CC 1	CFS	30	25	750	0	0	Lots	0	3
445			DECLUAR.	420	00511	200	20	20	400	25	45	Draw of	4.5	_
445	Narasaraopet Town on Palnadu road Guntur City(From TJPS college to CH Kalamandapam on Ring	GUNTUR	REGULAR	120	OPEN	DC	20	20	400	25	45	Lots	15	5
446	road)	GUNTUR	REGULAR	178	OPEN	сс	20	20	400	25	10	Bidding	30	5
1.0	ious	COMMON	ILEGOEP III	170	0.12.1		1 - 20		.00	25	1	Draw of	30	
447	Narasaraopet town on Kotappakonda road.	GUNTUR	REGULAR	134	OBC	DC	20	20	400	25	45	Lots	15	4
	On SH, Within 2kms from Rayawaram Junction towards											Draw of		
448	Durgi	GUNTUR	REGULAR	100	ST	CFS	35	35	1225	0	0	Lots	0	3
449	Guntur city(within 3 kms on RHS from cine square theatre towards Guntur on Amaravati rd)	GUNTUR	REGULAR	219	OPEN	сс	20	20	400	25	10	Bidding	30	5
443	towards Guntar on Amaravati raj	GONTOR	REGULAR	219	OFLIN	CC	20	20	400	23	10	Draw of	30	,
450	Tenali Town on Burripalem road(Not on SH)	GUNTUR	REGULAR	115	OPEN	DC	20	20	400	25	45	Lots	15	5
	. ,											Draw of		
451	Bapatla Town on Paruchuru- Bapatla Road(Not on NH)	GUNTUR	REGULAR	135	OBC	DC	20	20	400	25	45	Lots	15	4
4	Within 2 kms from Tadepalli old Toll gate towards	O. 10	DEC::::-	255	0.0				400			Draw of	4-	
452	Christianpet road	GUNTUR	REGULAR	361	OPEN	DC	20	20	400	25	45	Lots Draw of	15	5
453	GUDLAVALLERU ON SH 46	KRISHNA	REGULAR	130	SC	CFS	35	35	1225	0	0	Lots	0	3
	Within 2 kms from Vijayawada club towards chiravurru on								1				<u> </u>	
454	Repalle Karakatta road	GUNTUR	REGULAR	243	OPEN	cc	30	25	750	25	10	Bidding	30	5
	From Pullamaraka to Kuchinapadu near Sajjavaripalem,											Draw of		
455	Nagaram Mandal	GUNTUR	REGULAR	105	OBC	DC	30	25	750	25	45	Lots	15	4
	Repalle town(within 2 kms from Rajyalakshmi Theatre											Draw of		
456	towards Isukapalle on Repalle- Puligada road).	GUNTUR	REGULAR	120	OPEN CC 1	DC	20	20	400	25	45	Lots	15	5
	Within 4 kms from Amaravthi Village towards			1				<u> </u>	1			Draw of	1	
457	Vykuntapuram on Penumaka-Amaravati Road	GUNTUR	REGULAR	120	SC	CFS	30	25	750	0	0	Lots	0	3
	Within 2 kms from Arumbaka Village, Cherukupalli Mandal													
458	on NH 216	GUNTUR	REGULAR	210	OBC	CC	35	45	1575	25	10	Bidding	30	4
459	Guntur City, Within 2 kms from Sri Kanaka Durga Temple on MG Inner Ring Road towards G T Road	GUNTUR	REGULAR	330	OPEN	сс	20	20	400	25	10	Bidding	30	5
733	Chilakaluripet- Within Chilakaluripet muncipal limits on	GONTON	NEGOLAR	330	OF EIN		20	- 20	700	23	10	Draw of	30	-
460	Kotappakonda Road	GUNTUR	REGULAR	115	OPEN	DC	30	25	750	25	45	Lots	15	5

Contractic, From Guntra Cibbs Master Mind's college on Palacherum made. Contractic, From Guntra Cibbs Master Mind's college on Palacherum made. Contractic, From Guntra Cibbs Master Mind's college on Palacherum made. Contractic, From Guntra Cibbs Master Mind's college on Palacherum made. Contractic, From Guntra Cibbs Master Mind's College on Palacherum made. Contractic, From Guntra Cibbs Master Mind's College on Palacherum Made. Contractic, From Guntra Cibbs Master Mind's College on Palacherum Made. Contractic, From Guntra Cibbs Master Mind's College on Palacherum Made. Contractic, From Master Management Management Master Mind's College on Palacherum Made. Contractic, From Master Management Managem	(Rs Deposit (F	Fixed Fee / Min bid amount (Rs in Lakhs)	Mode of selection	pe arranged by vorking capital, a capital	applicant 9a v	(Frontage x		site (in Sq M	type of Site*	Category	Estimated monthly Sales Potential #	Type of RO	Revenue District	Name Of Location
Act Palakahum road. Satenapalit loven. On Site of 185 of Gourna-Satenapalit loven. On Site of 185 of Gournal Satenapalit loven. On Site of 185 of Gournal Satenapalit loven. On Site of 185 of Circle 185 of Circl	12	11	10	9b	9a	8c	8b	8a	7	6	5	4	3	2
Sattenapall town On St on RN of Guntrur Sattenapall Guntrur REGULAR 160 ST CFS 38 35 1275 0 0 Draw of 1 1 1 1 1 1 1 1 1		l												Guntur city, From Guntur Club to Master Mind's college on
Accordance Control Column	4	30	Bidding	10	25	400	20	20	CC	OBC	158	REGULAR	GUNTUR	
			Draw of											Sattenapalli town- On SH on RHS of Guntur-Sattenapalli
463	3	0	Lots	0	0	1225	35	35	CFS	ST	160	REGULAR	GUNTUR	Road
Bapatia town, within 2 km from Bapatia Apricultural College Survivaria			Draw of											Guntur city, within 2 kms from Old Guntur post office
464 Bhattiprofu Milage, Bhattiprofu Managalagiri roam Spats Agricultural College 150	5	15	Lots	60	25	400	20	20	DC	OPEN	155	REGULAR	GUNTUR	towards Nandivelugu flyover on RHS
Separata town, within 2 km from Bapatha Agricultural College town within 2 km from Bapatha Agricultural College town within 3 km from agricultural College town within 3 km from Agricultural College to Mithin 3 km from Agricultural College to Mithin 3 km from Majorita willage on 544 8 towards by a bapatha willage on 6 unture prathipadu road down willage on Guntrur prathipadu road down willage on Stafegor on Narobadur vo guntrur prathipadu road down willage on Narobadur vo guntrur prathipadu road down willage on Narobadur vo guntrur prathipadu road down willage willage on Narobadur vo guntrur prathipadu road down willage willage road willage			Draw of											
465 Towards Surya Lanka Beach(not on NH 216)	5	15	Lots	75	25	1575	45	35	DC	OPEN	150	REGULAR	GUNTUR	Bhattiprolu Village, Bhattiprolu Mandal on NH 216
Within 3 kms from application willage on SH 48 towards bapatis GUNTUR REGULAR 184 SC CFS 35 35 1225 0 0 Cots 0			Draw of											Bapatla town, within 2 km from Bapatla Agricultural College
467 Kakumanu village on Guntur perschipadu road GUNTUR REGULAR 107 OPEN DC 30 25 750 25 45 Lots 15	4	15	Lots	45	25	400	20	20	DC	OBC	146	REGULAR	GUNTUR	towards Surya Lanka Beach(not on NH 216)
467 Kakumanu village on Guntur-prathipadu road GUNTUR REGULAR 107 OPEN DC 30 25 750 25 45 Lots 15			Draw of											Within 3 kms from appikatla village on SH 48 towards
469 Mangalagiri trown, Cuntrur by Percental road GUNTUR REGULAR 240 OPEN CC 20 20 400 25 10 Bidding 30	3	0	Lots	0	0	1225	35	35	CFS	sc	184	REGULAR	GUNTUR	bapatla
468 Guntur town, Guntur-percherlar road GUNTUR REGULAR 240 OPEN CC 20 20 400 25 10 Bidding 30			Draw of											
468 Guntur town, Guntur-percherlar road GUNTUR REGULAR 240 OPEN CC 20 20 400 25 10 Bidding 30	5	15	Lots	45	25	750	25	30	DC	OPEN	107	REGULAR	GUNTUR	Kakumanu village on Guntur-prathipadu road
Mangalagiri town on Tenali-Mangalagiri road. GUNTUR REGULAR 146 BBCPH DC 20 20 400 25 45 Lots 15	5													
Within 3 kms from Nidubrolut towards Chandolu on Repalle road			Draw of											
Within 2 kms from Nidubrolu towards Chandolu on Repalle	4	15	Lots	45	25	400	20	20	DC	OBC PH	146	REGULAR	GUNTUR	Mangalagiri town on Tenali- Mangalagiri road.
A70			Draw of											
Managalgir town, From Unvasi theatre to Don bosco EM school GUNTUR REGULAR 160 OPEN CC 20 20 400 25 10 Bidding 30	3	0	Lots	0	0	400	20	20	CFS	SC PH	165	REGULAR	GUNTUR	road
471 School GUNTUR REGULAR 160 OPEN CC 20 20 400 25 10 Bidding 30														Managalgiri town, From Urvasi theatre to Don bosco EM
Suntur (stylethin municipal limits from B convention to St Many's engg college on Narakoduru road) GUNTUR REGULAR 210 OPEN CC 20 20 400 25 10 Bidding 30	5	30	Bidding	10	25	400	20	20	СС	OPEN	160	REGULAR	GUNTUR	
A72 Mary's engs college on Narakoduru croad GUNTUR REGULAR 210 OPEN CC 20 20 400 25 10 Bidding 30						100		1		0.1				
Bapatla Junior College to Holy Cross EM school GUNTUR REGULAR 180 OBC DC 35 45 1575 25 75 Lots 15	5	30	Bidding	10	25	400	20	20	cc	OPEN	210	REGULAR	GUNTUR	1 ''
A73	+					1,00	 			0				
Within 2 kms from CRDA Office Thullur towards Velagapudi road GUNTUR REGULAR 158 OPEN DC 20 20 400 25 45 Lots 15 Lots	4	15	l	75	25	1575	45	35	DC	OBC	180	REGULAR	GUNTUR	
A74		- 13			- 23	1373	1 .5	1 33		050	100	THE COLD III	Control	
Within 2 kms on Kolluru road from Pedaravuru Village, 100 CFS	5	15	l	45	25	400	20	20	DC	OPEN	158	REGULAR	GUNTUR	
475 Tenali Mandal GUNTUR REGULAR 100 SC CFS 30 25 750 0 0 Lots 0				.5		100		1		0.2.1	150	THE COLD III	CONTON	***
Guntur(Between Sri Chebrolu Hanumaiah circle and Subham convention centre via Gujjangundla circle) GUNTUR REGULAR 270 OPEN DC 20 20 400 25 60 Lots 15	3	0		0	0	750	25	30	CES	SC	100	REGULAR	GUNTUR	1
A76	+ -			Ť		750	1 - 2	 	0.0	50	100	THE COLD III	Control	
Within 3 kms from Budham Village, Karlapalem Mandal towards Bapatla on NH 216 LHS. GUNTUR REGULAR 230 OBC DC 35 45 1575 25 75 Lots 15	5	15	l	60	25	400	20	20	DC	OPEN	270	REGULAR	GUNTUR	1 '
477 towards Bapatla on NN 216 LHS. GUNTUR REGULAR 230 OBC DC 35 45 1575 25 75 Lots 15	+ -			- 55	- 23		1 20	1		0. 2.1	2.0	THE COLD III	Control	" " '
Guntur city, from JKC college to Chillies dhaba (on mahatma Gandhi Inner ring road) Sugalithanda, (Between Diguvametta & Sugalithanda)RHS from Giddalur to Nandyal Highway, SH 53 PRAKASAM REGULAR 140 SC CFS 35 35 1225 0 0 0 Lots 0 Draw of From Giddalur to Nandyal Highway, SH 53 PRAKASAM REGULAR 140 SC CFS 35 35 1225 0 0 0 Lots 0 Draw of Lots 15 Draw of Lo	4	15	l	75	25	1575	45	35	DC	OBC	230	REGULAR	GUNTUR	9
A78 Gandhi Inner ring road GUNTUR REGULAR 270 OPEN CC 20 20 400 25 10 Bidding 30		- 13	2013		- 23	1373	1 .5	1 33		050	250	THE COLD III	Control	· · · · · · · · · · · · · · · · · · ·
Sugalithanda,(Between Diguvametta & Sugalithanda)RHS from Giddalur to Nandyal Highway, SH 53 PRAKASAM REGULAR 140 SC CFS 35 35 1225 0 0 0 Lots 0 Draw of Lots 0 Within 3 kms from Munipalle Village, Ponnur Mandal towards Ponnur town on SH 48 GUNTUR REGULAR 176 OBC DC 35 35 1225 25 60 Lots 15 Draw of Lots 15 Ponnuru Town, From Sri Veeranjaneya Swamy Vari 482 Devasthanam to Municipal Boundary towards Guntur GUNTUR REGULAR 144 OPEN CC1 DC 20 20 400 25 45 Lots 15 Within 3 kms from MVR circle Rayapudi towards Mandadam road. GUNTUR REGULAR 158 OBC DC 20 20 400 25 45 Lots 15 Draw of Lots 15 D	5	30	Ridding	10	25	400	20	20	cc	OPEN	270	REGULAR	GUNTUR	_ · · · · · · · · · · · · · · · · · · ·
479	+ -	- 55	Didding	10	- 23		- 20	1		0. 2.1	2.70	THE COLD III	Control	Santan inite ing isaay
479		1	Draw of											Sugalithanda.(Between Diguvametta & Sugalithanda)RHS
Within 3 kms from Munipalle Village, Ponnur Mandal towards Ponnur town on SH 48 GUNTUR REGULAR 176 OBC DC 35 35 1225 25 60 Lots 15 Draw of Lots 15 Ponnur Town, From Sri Veeranjaneya Swamy Vari 482 Devasthanam to Municipal Boundary towards Guntur Within 3 kms from MVR circle Rayapudi towards Mandadam road. GUNTUR REGULAR 144 OPEN CC 1 OPEN DC 20 20 400 25 60 Lots 15 Draw of Lots 15 Draw of Lots 15 Within 4 kms from Penumudi towards Vellaturu on Repalle road GUNTUR REGULAR 158 OBC DC 20 20 400 25 45 Lots 15 Draw of Lots	3	0	l	0	0	1225	35	35	CFS	sc	140	REGULAR	PRAKASAM	
480 towards Ponnur town on SH 48 GUNTUR REGULAR 176 OBC DC 35 35 1225 25 60 Lots 15						T		T						
481 Guntur city,Guntur-Prathipadu road GUNTUR REGULAR 160 OPEN DC 20 20 400 25 60 Lots 15 Ponnuru Town, From Sri Veeranjaneya Swamy Vari 482 Devasthanam to Municipal Boundary towards Guntur GUNTUR REGULAR 144 OPEN CC 1 DC 20 20 400 25 45 Lots 15 Within 3 kms from MVR circle Rayapudi towards Mandadam road. GUNTUR REGULAR 158 OBC DC 20 20 400 25 45 Lots 15 Within 4 kms from Penumudi towards Vellaturu on Repalle road GUNTUR REGULAR 125 ST CFS 30 25 750 0 0 0 Lots 0 Draw of Lots 15 ST CFS 30 25 750 0 0 Draw of D	4	15	l	60	25	1225	35	35	DC	ОВС	176	REGULAR	GUNTUR	
481 Guntur city, Guntur-Prathipadu road GUNTUR REGULAR 160 OPEN DC 20 20 400 25 60 Lots 15													-	
Ponnuru Town, From Sri Veeranjaneya Swamy Vari 482 Devasthanam to Municipal Boundary towards Guntur Within 3 kms from MVR circle Rayapudi towards Mandadam road. GUNTUR REGULAR GUNTUR REGULAR 144 OPEN CC 1 DC 20 20 400 25 45 Lots Draw of Lots Draw of Lots Draw of Lots Draw of Lots 15 Within 4 kms from Penumudi towards Vellaturu on Repalle road GUNTUR REGULAR 125 ST CFS 30 25 750 0 0 0 Lots Draw of Lots	5	15	l	60	25	400	20	20	DC	OPEN	160	REGULAR	GUNTUR	Guntur city, Guntur-Prathipadu road
482 Devasthanam to Municipal Boundary towards Guntur GUNTUR REGULAR 144 OPEN CC 1 DC 20 20 400 25 45 Lots 15													-	
Within 3 kms from MVR circle Rayapudi towards Mandadam road. GUNTUR REGULAR 158 OBC DC 20 20 400 25 45 Lots 15 Within 4 kms from Penumudi towards Vellaturu on Repalle road GUNTUR REGULAR 125 ST CFS 30 25 750 0 0 Draw of	5	15	l	45	25	400	20	20	DC	OPEN CC 1	144	REGULAR	GUNTUR	
483 road. GUNTUR REGULAR 158 OBC DC 20 20 400 25 45 Lots 15 Within 4 kms from Penumudi towards Vellaturu on Repalle 484 GUNTUR REGULAR 125 ST CFS 30 25 750 0 0 Lots 0 Draw of Draw of Draw of Draw of Draw of Draw of Draw of Draw of														
Within 4 kms from Penumudi towards Vellaturu on Repalle road GUNTUR REGULAR 125 ST CFS 30 25 750 0 0 Draw of Lots 0 Draw of Draw of Lots 0 Draw of Dra	4	15	l	45	25	400	20	20	DC	ОВС	158	REGULAR	GUNTUR	1 1
484 road GUNTUR REGULAR 125 ST CFS 30 25 750 0 0 Lots 0						T		<u> </u>		1				
Draw of	3	0	l	0	0	750	25	30	CFS	ST	125	REGULAR	GUNTUR	· ·
	5	15	l	45	25	400	20	20	DC	OPEN	110	REGULAR	GUNTUR	Within 3 kms from Lam on Amaravathi Road towards Guntur
Guntur city, Amaravati road, within 3 kms from Indian Bank Draw of		-									-			
486 at Inner ring road In to Amaravati on LHS GUNTUR REGULAR 205 OPEN DC 20 20 400 25 60 Lots 15	5	15	l	60	25	400	20	20	DC	OPEN	205	REGULAR	GUNTUR	
PAMUR TOWN (not on NH/SH) , PAMUR MANDAL,													-	
487 PRAKASAM DISTRICT PRAKASAM REGULAR 105 OBC DC 20 20 400 25 45 Lots 15	4	15	l	45	25	400	20	20	DC	ОВС	105	REGULAR	PRAKASAM	

SI. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	type of Site*	site (in Sq M	-	(Frontage x	applicant 9a v	be arranged by working capital, a capital	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
	Guntur Town, Within 1 KM from Manasasarovaram Park											Draw of		
488	Junction towards Guntur Town on RHS	GUNTUR	REGULAR	170	SC	CFS	20	20	400	0	0	Lots	0	3
	Ongole town on Kurnool road: between bapuji Market and											Draw of		1 _ 1
489	Kurnool road flyover junction	PRAKASAM	REGULAR	178	OPEN	DC	20	20	400	25	45	Lots	15	5
400	within 5 km from Kunta junction towards Doranala on	DDAKACAAA	DECLUAD	454	OPEN	DC	25	45	1575	25	75	Draw of	45	_
490	National Highway	PRAKASAM	REGULAR	151	OPEN	DC	35	45	1575	25	75	Lots Draw of	15	5
491	Mocherla village, Gudlur Mandal on NH-16 (on LHS from Ongole to Kavali)	PRAKASAM	REGULAR	170	OPEN	DC	35	45	1575	25	75	Lots	15	5
431	Within 2 kms from Vykuntapuram Village, Thullur Mandal	FRARASAIVI	REGULAR	170	OFLIN	DC	33	43	13/3	23	/3	Draw of	13	
492	towards borupalem village.	GUNTUR	REGULAR	105	OBC CC 1	DC	30	25	750	25	45	Lots	15	4
152	torrai de Doraparem Tinager	CONTON	THE COLD III	103	050 00 1	- 50	1 30	1 23	750			Draw of	15	
493	Karlapalem Village, Karlapalem Mandal on NH 216	GUNTUR	REGULAR	250	ST CC 1	CFS	35	45	1575	0	0	Lots	0	3
	KANDUKUR TOWN (not on NH/SH), KANDUKUR MANDAL,											Draw of		
494	PRAKASAM DISTRICT	PRAKASAM	REGULAR	109	OPEN PH	DC	20	20	400	25	45	Lots	15	5
	MARKAPUR TOWN (not on NH/SH), MARKAPUR, PRAKASAM											Draw of		
495	DISTRICT	PRAKASAM	REGULAR	115	OBC	DC	20	20	400	25	45	Lots	15	4
	BUDAVADA VILLAGE ON SH-53 BUDAVADA TO CHIMAKURTY											Draw of		1
496	(LHS) CHIMAKURTY MANDAL	PRAKASAM	REGULAR	134	OPEN	DC	35	35	1225	25	60	Lots	15	5
	Ongole town From Nellore Bustand to South Bye pass Jn.											Draw of		1 1
497	Either side	PRAKASAM	REGULAR	180	SC	CFS	20	20	400	0	0	Lots	0	3
	On LHS on bypass service road between Kurnool road											Draw of		1 _ 1
498	junction towards Guntur road junction, ongole	PRAKASAM	REGULAR	150	OPEN	DC	20	20	400	25	45	Lots	15	5
400	Ongole town Between Old Vegetable market to Kurnool	PRAKASAM	DECLUAD	200	OBC	DC	20	20	400	25	45	Draw of	15	1 . 1
499	road bypass junction Tangutur town on Tangutur to Kondepi road; Tangutur	PRAKASAIVI	REGULAR	200	OBC	DC	20	20	400	25	45	Lots Draw of	15	4
500	Mandal	PRAKASAM	REGULAR	100	OPEN	DC	20	20	400	25	45	Lots	15	5
300	Chadalawada village on new NH 216 towards	FINANASAWI	REGOLAR	100	OFEN	DC	20	20	400	25	45	Draw of	15	
501	Naguluppalapadu(Ongole - Chirala Road)	PRAKASAM	REGULAR	151	OPEN	DC	35	45	1575	25	75	Lots	15	5
	, , , , , , , , , , , , , , , , , , , ,											Draw of		
502	Voletivaripalem village (not on NH/SH) towards Botlagudur	PRAKASAM	REGULAR	103	ST	CFS	20	20	400	0	0	Lots	0	3
												Draw of		
503	Giddalur Town (not on State Highway / National Highway)	PRAKASAM	REGULAR	135	OBC	DC	30	25	750	25	45	Lots	15	4
	Mangamuru Junction to sangamitra hospital on Old NH-16,													
504	Ongole	PRAKASAM	REGULAR	151	OPEN	CC	35	45	1575	25	10	Bidding	30	5
												Draw of		1
505	ongole town (not on NH/SH); ongole, prakasam district	PRAKASAM	REGULAR	141	OPEN CC 1	DC	20	20	400	25	45	Lots	15	5
	On SH on LHS, Within 5kms from Kondamodu Jn. towards											Draw of		1 1
506	Nekarikallu	GUNTUR	REGULAR	100	SC	CFS	35	35	1225	0	0	Lots	0	3
507	languagements (Mithin 1 Km) towards Chimaly attracts CUES	PRAKASAM	DECLUAR	205	OBC	DC	35	35	1225	25	60	Draw of	15	4
507	Jangamgunta (Within 1 Km) towards Chimakurthy on SH53 Throvagunta junction to Maddiralapadu on new NH-216	PRARASAIVI	REGULAR	205	OBC	DC	35	35	1225	25	90	Lots	12	4
508	Ongole to Chirala road	PRAKASAM	REGULAR	151	OPEN	СС	35	45	1575	25	10	Bidding	30	5
300	Mopadu village on Mopadu to Kandukur on KGT Road (not	INGINASAIVI	ILCOLAIN	131	OI LIV		1 33	+	13/3		10	Draw of	30	
509	on SH/NH)	PRAKASAM	REGULAR	160	OPEN	DC	20	20	400	25	45	Lots	15	5
		- "										Draw of		
510	Kanigiri Town (not on NH/SH); kanigiri	PRAKASAM	REGULAR	110	ОВС	DC	20	20	400	25	45	Lots	15	4
	Within 2km on either side of Jandrapet Post Office on											Draw of		
511	Chirala-Ongole road	PRAKASAM	REGULAR	145	SC	CFS	30	25	750	0	0	Lots	0	3
	Within 2 km on LHS from Kandukur-Pamuru Junction on KGT											Draw of		
512	Road, kandukur	PRAKASAM	REGULAR	180	OPEN	DC	20	20	400	25	45	Lots	15	5
	within 03 km on LHS from Setaramapuram village,											Draw of		
513	Maddipadu Mandal on NH-16 towards Ongole.	PRAKASAM	REGULAR	210	OPEN	DC	35	45	1575	25	75	Lots	15	5
	MANGAMURU ROAD (within 2 kms from NH-16 Junction		DEC	400	05.5				4			Draw of	4-	
514	towards Mangamuru)	PRAKASAM	REGULAR	120	OBC	DC	20	20	400	25	45	Lots	15	4

SI. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	type of Site*	site (in Sq N		(Frontage x	applicant 9a v	be arranged by working capital, a capital	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
515	NANDIGAMA BYPASS ROAD ON NH65	KRISHNA	REGULAR	230	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
	Within 2km LHS from Edugundlapadu on NH-16 towards											Draw of		
516	Guntur	PRAKASAM	REGULAR	290	OPEN	DC	35	45	1575	25	75	Lots	15	5
	On SH on LHS Between Tummulacheruvu toll Plaza &											Draw of		
517	Nadukudi Jn towards Dachepalli	GUNTUR	REGULAR	125	OPEN	DC	35	35	1225	25	60	Lots	15	5
	Within 1km on RHS on SH 51 from Venkatachalampalli											Draw of		
518	Addaroad to Darsi	PRAKASAM	REGULAR	100	OBC	DC	35	35	1225	25	60	Lots	15	4
540	Tangutur Village(Tangutur Mandal) on old NH5 towards	DD4W46444	DECLUAR.	425	C.T.	656	20	20	400			Draw of		
519	Singarayakonda	PRAKASAM	REGULAR	135	ST	CFS	20	20	400	0	0	Lots Draw of	0	3
520	Korrapadu Village, Medikonduru mandal on SH	GUNTUR	REGULAR	100	OPEN	DC	35	35	1225	25	60	Lots	15	5
320	Norrapada village, Medikolludru Illandal oli 30	GOIVION	NEGOLAR	100	OFLIN	DC	33	33	1223	- 23	- 50	Draw of	13	,
521	Singarakonda On SH on LHS towards Addanki	GUNTUR	REGULAR	100	ОВС	DC	35	35	1225	25	60	Lots	15	4
	On SH 45, RHS Chirala to Chilakaluripeta, Between Chirala											Draw of		
522	Summer Storage pond and APSWC Godowns	PRAKASAM	REGULAR	100	OPEN	DC	35	35	1225	25	60	Lots	15	5
523	Chirala town, within town limits	PRAKASAM	REGULAR	150	OPEN	CC	20	20	400	25	10	Bidding	30	5
												Draw of		
524	MACHILIPATNAM TOWN (JAVAR PET)	KRISHNA	REGULAR	200	SC	CFS	20	20	400	0	0	Lots	0	3
	Boduvanipalem on SH on LHS from Addanki towards											Draw of		
525	Medarmetla	PRAKASAM	REGULAR	117	OBC	DC	35	35	1225	25	60	Lots	15	4
526	On NH on RHS from Perecherla towards Guntur: Between Perecherla Jn & Indian Overseas bank	GUNTUR	REGULAR	250	OPEN	СС	35	45	1575	25	10	Bidding	30	5
320	Within 3kms from Santhamagaluru cross road towards	GONTOR	REGULAR	230	OFLIN	CC	33	43	13/3	23	10	Draw of	30	,
527	Narasaraopet	PRAKASAM	REGULAR	150	OPEN	DC	35	45	1575	25	75	Lots	15	5
		-										Draw of		
528	AUTONGAR 100 FT ROAD (VIJAYAWADA CITY)	KRISHNA	REGULAR	370	SC	CFS	20	20	400	0	0	Lots	0	3
												Draw of		
529	Addanki Town on Ballikurava Road (Not on SH)	PRAKASAM	REGULAR	110	OBC	DC	20	20	400	25	45	Lots	15	4
	On NH16 on LHS towards Martur: Between Reningavaram-							l						_
530	Addanki Rd Jn and Bollapalli toll plaza	GUNTUR	REGULAR	200	OPEN	CC	35	45	1575	25	10	Bidding Draw of	30	5
531	Sattenapalli Town, On Narasaraopet road(Not on SH)	GUNTUR	REGULAR	114	OPEN CC 1	DC	20	20	400	25	45	Lots	15	5
	Sattenapani Town, On Narasaraopet Toau(Not on 3H)	GONTOR	REGULAR	114	OF LIN CC 1	DC	20	20	400	23	43	Draw of	13	,
532	Elchuru, on SH on LHS towards Puttavaripalem	PRAKASAM	REGULAR	100	OBC	DC	35	35	1225	25	60	Lots	15	4
	ULAVAPADU (not on NH/SH) ,ULAVAPADU MANDAL,											Draw of		
533	PRAKASAM DISTRICT	PRAKASAM	REGULAR	130	ST	CFS	20	20	400	0	0	Lots	0	3
	On SH02 on LHS towards Sattenapalli, Within 2kms radius of											Draw of		
534	Bellamkonda cross road	GUNTUR	REGULAR	100	OPEN	DC	35	35	1225	25	60	Lots	15	5
525	Gurazala- On SH02, From Karampudi Rd Jn to Pulipadu Rd.	CUNTUR	DECLUAR	110	OPEN	D.C	35	25	1225	25	60	Draw of	1	
535	Jn.	GUNTUR	REGULAR	110	UPEN	DC	35	35	1225	25	60	Lots Draw of	15	5
536	Vydena- On SH on RHS of Narasaraopeta Road	PRAKASAM	REGULAR	100	OBC	DC	35	35	1225	25	60	Lots	15	4
	- years and an an an an anadara peta nodu			200	550	- 50	33	1 33	1223		"	Draw of	1 - 2	<u> </u>
537	Durgi Village & Mandal- On State highway	GUNTUR	REGULAR	140	SC	CFS	35	35	1225	0	0	Lots	0	3
	On NH216 on LHS- Within 3kms from Junction of Chirala													
538	Bypass Rd-Vadarevu Rd towards Vetapalem	PRAKASAM	REGULAR	200	OPEN	СС	35	45	1575	25	10	Bidding	30	5
_	Within 2kms from Vinukonda check post, on Vinukonda to											Draw of		
539	Nuzendla Road	GUNTUR	REGULAR	120	OPEN	DC	35	35	1225	25	60	Lots	15	5
F40	Inury Village & Mandal on SH	GUNTUR	DECLUAR	125	ORC	DC	35	25	1225	25	60	Draw of	15	4
540	Ipuru Village & Mandal on SH On NH on LHS from Perecherla towards Guntur: Between	GUNTUK	REGULAR	135	OBC	DC	35	35	1225	25	DU DU	Lots	15	4
	J Jii Elij ilom i Ciccincila towards duntur. Detween	GUNTUR	REGULAR	250	OPEN	СС	35	45	1575	25	10	Bidding	30	5

SI. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	type of Site*	site (in Sq M	•	(Frontage x		pe arranged by vorking capital, a capital	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
542	KANDULAPURAM VILLAGE ON SH-378; KANDULAPURAM TO TARLAPADU ROAD; CUMBUM MANDAL	PRAKASAM	REGULAR	125	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
543	Nidamanur to Poranki (not on NH)	KRISHNA	REGULAR	110	OPEN CC 2	CC	30	25	750	25	10	Bidding	30	5
	·											Draw of		
544	Karamchedu Village & Mandal, On State Highway	PRAKASAM	REGULAR	100	OBC CC 1	DC	35	35	1225	25	60	Lots	15	4
	Addanki Town within town limit: On state highway on RHS											Draw of		
545	towards Narasaraopet	PRAKASAM	REGULAR	170	OPEN	DC	35	35	1225	25	60	Lots	15	5
	VIJAYAWADA CITY (GOLLAPUDI BYPASS ROAD TO											Draw of		
546	CHANUMOLU VENKATARAO BRIDGE)	KRISHNA	REGULAR	250	sc	CFS	20	20	400	0	0	Lots	0	3
	,											Draw of		
547	Pallipadu village, Indukurpet mandal	NELLORE	REGULAR	100	OBC	DC	20	20	400	25	45	Lots	15	4
	Within 6 kms from Duttallur Police Station towards													
548	Narrawada on either side of NH	NELLORE	REGULAR	150	OPEN	cc	35	45	1575	25	10	Bidding	30	5
	Between Rapur and Palugodu in Dakkili mandal, on either											-		
549	side on NH	NELLORE	REGULAR	150	OPEN	cc	35	45	1575	25	10	Bidding	30	5
												Draw of		
550	On Proddatur Ring Road to Duvvuru (Not on NH and SH).	KADAPA	REGULAR	260	OBC	DC	20	20	400	25	45	Lots	15	4
	Karatampadu village, Atmakur mandal LHS towards Kadapa											Draw of		
551	on NH	NELLORE	REGULAR	160	ST	CFS	35	45	1575	0	0	Lots	0	3
												Draw of		
552	Varikuntapadu Mandal on NH towards Pamur on either side	NELLORE	REGULAR	160	OPEN	DC	35	45	1575	25	75	Lots	15	5
	·											Draw of		
553	ADURUPALLI village, CHEJERLA MANDAL (not on SH)	NELLORE	REGULAR	100	OPEN	DC	30	25	750	25	45	Lots	15	5
	, ,											Draw of		
554	Porumamilla Village and Mandal.	KADAPA	REGULAR	110	OBC	DC	20	20	400	25	45	Lots	15	4
	Between Naidupeta and Neluballi on NH in Pellakuru											Draw of		
555	mandal on either side	NELLORE	REGULAR	180	sc	CFS	35	45	1575	0	0	Lots	0	3
	Nellore town between KVR circle and Ayyappagudi temple													
556	center on either of GNT road	NELLORE	REGULAR	160	OPEN	CC	20	20	400	25	10	Bidding	30	5
												Draw of		
557	Nagulavaram village, bogole mandal	NELLORE	REGULAR	100	OPEN CC 1	DC	20	20	400	25	45	Lots	15	5
												Draw of		
558	KOTHUR VILLAGE, INDUKURPET MANDAL	NELLORE	REGULAR	100	OBC	DC	30	25	750	25	45	Lots	15	4
												Draw of		
559	PENCHALAKONA VILLAGE, RAPUR MANDAL	NELLORE	REGULAR	100	SC	CFS	30	25	750	0	0	Lots	0	3
	Between Nellore SP office and Civil supplies godown on													
560	either side of Nellore - Podalkur road	NELLORE	REGULAR	150	OPEN	CC	20	20	400	25	10	Bidding	30	5
561	Nellore town within municipal limits	NELLORE	REGULAR	180	OPEN	CC	20	20	400	25	10	Bidding	30	5
												Draw of		
562	CHAKALAKONDA VILLAGE, VINJAMUR MANDAL	NELLORE	REGULAR	100	OBC	DC	30	25	750	25	45	Lots	15	4
	LHS on Krishnapatnam Port (West Gate) to NH5 Main Road,													
563	within 7 kms from West Gate	NELLORE	REGULAR	354	OPEN	CC	35	45	1575	25	10	Bidding	30	5
												Draw of		
564	Chilamakuru to Proddatur Road (Not on NH and SH).	KADAPA	REGULAR	135	SC	CFS	20	20	400	0	0	Lots	0	3
	Nellore town on Mini Bye Pass Road from annamayya circle													
565	towards railway station on either side	NELLORE	REGULAR	370	OPEN	CC	20	20	400	25	10	Bidding	30	5
1	Jammalamadugu town limits, Jammalamadugu mandal (Not		l				l	l				Draw of		
566	on NH and SH)	KADAPA	REGULAR	215	OBC	DC	20	20	400	25	45	Lots	15	4
	On Mini bye pass road, towards Ayyappagudi circle, within 4													_
567	kms from Annamayya circle on either side	NELLORE	REGULAR	199	OPEN	CC	20	20	400	25	10	Bidding	30	5
				465	CT	0=0				_	[Draw of		
568	Bhakrapeta to Yerravaripalem towards Talakona Road	CHITTOOR	REGULAR	100	ST PH	CFS	30	25	750	0	0	Lots	0	3
500	In Body I Town Limits Body 1889 (1914)	KADADA	DEC: " A.S.	245	000.50	P.C		20	400	25	4-	Draw of	45	,
569	In Badvel Town Limits, Badvel Mandal (Not on NH/SH).	KADAPA	REGULAR	245	OBC PH	DC	20	20	400	25	45	Lots	15	4

SI. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	type of Site*	site (in Sq N	-	(Frontage x	applicant 9a v	pe arranged by working capital, a capital	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
570	Nellore town on Children's park road, from Muthukur junction towards NH5 on either side	NELLORE	REGULAR	170	OPEN	СС	20	20	400	25	10	Bidding	30	5
571	Inside Krishnapatnam Port	NELLORE	REGULAR	360	OPEN	DC	30	25	750	25	45	Draw of Lots	15	5
572	In Muddanur Town and Mandal (Not on NH/SH).	KADAPA	REGULAR	155	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
573	Shanthipuram Town not on NH	CHITTOOR	REGULAR	130	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
574	Kothapalli village, Kavali mandal	NELLORE	REGULAR	100	OPEN	DC	30	25	750	25	45	Draw of Lots	15	5
575	Thimmareddipalli, Varikuntapadu mandal (not on highway)	NELLORE	REGULAR	100	OPEN	DC	30	25	750	25	45	Draw of Lots Draw of	15	5
576	within Kalyandurg town limits	ANANTAPUR	REGULAR	140	OBC	DC	20	20	400	25	45	Lots Draw of	15	4
577	Chennur village on Gudur to Rapur road	NELLORE	REGULAR	100	SC	CFS	35	35	1225	0	0	Lots Draw of	0	3
578	CHINNAMACHUNURU VILLAGE, MARRIPADU MANDAL	NELLORE	REGULAR	100	OPEN	DC	30	25	750	25	45	Lots Draw of	15	5
579	ATMAKUR WITHIN TOWN LIMITS Between penukonda RTO Check post and penukonda arch	NELLORE	REGULAR	100	OPEN	DC	20	20	400	25	45	Lots	15	5
580	on NH-44 Towards Anantapur(LHS)	ANANTAPUR	REGULAR	170	OPEN	СС	35	45	1575	25	10	Bidding Draw of	30	5
581	Patnam to Dwarakapuram ,Thavanampalli Mandal. Between Ramasethu Bridge and NTR Park in Srikalahasti	CHITTOOR	REGULAR	100	OBC	DC	30	25	750	25	45	Lots Draw of	15	4
582	Town Tirupati Town on either side between MS Subbulakshmi	CHITTOOR	REGULAR	180	SC	CFS	20	20	400	0	0	Lots Draw of	0	3
583	circle and Kapiltheertham	CHITTOOR	REGULAR	200	OPEN CC 1	DC	20	20	400	25	60	Lots Draw of	15	5
584	PULLAMPET VILLAGE AND MANDAL ON SH 31 ON NH-44 FROM KIA MOTORS TO SOMANDEPALLY LHS	KADAPA	REGULAR	200	OBC	DC	35	35	1225	25	60	Lots	15	4
585	TOWARDS BANGALORE.	ANANTAPUR	REGULAR	220	OPEN	СС	35	45	1575	25	10	Bidding Draw of	30	5
586	Chitvel town, Chitvel mandal on nh44 from chennekothapalli village till kia motors LHS	KADAPA	REGULAR	110	ST	CFS	20	20	400	0	0	Lots Draw of	0	3
587	towards banaglore	ANANTAPUR	REGULAR	190	OPEN	DC	35	45	1575	25	75	Lots Draw of	15	5
588	Punjulurupadu village, Venkatachalam mandal (not on NH) ON Dharmavaram to kothacheruvu road, FROM YSR STATUE	NELLORE	REGULAR	100	OBC	DC	30	25	750	25	45	Lots Draw of	15	4
589	TILL motumarla village on either side . on anantapur to tadipatri road, from old town market till	ANANTAPUR	REGULAR	110	OPEN	DC	35	35	1225	25	60	Lots Draw of	15	5
590	singanamala cross	ANANTAPUR	REGULAR	160	OPEN	DC	35	45	1575	25	75	Lots Draw of	15	5
591	Kalasapadu village, kalasapadu mandal	KADAPA	REGULAR	135	SC CC 1	CFS	20	20	400	0	0	Lots Draw of	0	3
592	Atmakur town on Battepadu road on kothacheruvu to dharmavaram road within 1.5km from	NELLORE	REGULAR	100	OBC CC 1	DC	30	25	750	25	45	Lots Draw of	15	4
593	kothacheruvu junction	ANANTAPUR	REGULAR	100	OPEN	DC	35	35	1225	25	60	Lots Draw of	15	5
594	Mudigubba within town limits	ANANTAPUR	REGULAR	169	OPEN PH	DC	20	20	400	25	45	Lots Draw of	15	5
595	obulavaripalli village, obulavaripalli mandal.	KADAPA	REGULAR	105	SC	CFS	20	20	400	0	0	Lots Draw of	0	3
596	Kaluvai village and mandal (not on highway)	NELLORE	REGULAR	100	OBC	DC	30	25	750	25	45	Lots	15	4

SI. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	type of Site*	site (in Sq N		(Frontage x	applicant 9a v	be arranged by working capital, a capital	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
597	anantapur within town limits.	ANANTAPUR	REGULAR	210	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
598	Pitchatur Village and Mandal on SH	CHITTOOR	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
599	In Proddatur Town on Ring Road (Not on NH/SH).	KADAPA	REGULAR	185	SC	CFS	20	20	400	0	0	Draw of Lots Draw of	0	3
600	penukonda within town limits.	ANANTAPUR	REGULAR	120	OPEN	DC	20	20	400	25	45	Lots	15	5
601	anantapur town,from jntu college till collector office on either side of the road	ANANTAPUR	REGULAR	180	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
602	ANANTAPUR TOWN,TAPOVANAM CIRCLE TO NEELIMA TALKIES ROAD ON EITHER SIDE OF THE ROAD	ANANTAPUR	REGULAR	101	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
603	ON parigi to hindupur road between 4 to 9 kms from parigi indian design exports	ANANTAPUR	REGULAR	140	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
604	on guntakal to uravakonda road on SH-26 within 2kms from Hanuman circle.	ANANTAPUR	REGULAR	140	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
605	Gooty within town limits	ANANTAPUR	REGULAR	112	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
606	gooty town(not on railway station road)	ANANTAPUR	REGULAR	120	OPEN CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
607	In Mydukur town limits (Not on NH & SH)	KADAPA	REGULAR	125	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
608	kadiri within municipal limits not on NH ON Dharmavaram to Bangalore road within 4kms from RTC	ANANTAPUR	REGULAR	140	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
609	Bustand towards Bangalore.	ANANTAPUR	REGULAR	135	OPEN	сс	20	20	400	25	10	Bidding	30	5
610	Rayadurg within town limits	ANANTAPUR	REGULAR	140	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
611	in anantapur between district's collector office and viswambhara kalyanamandapam .	ANANTAPUR	REGULAR	130	OPEN	СС	20	20	400	25	10	Bidding	30	5
612	within 1km from kumbakarna garden towards penukonda town(RHS) not on NH	ANANTAPUR	REGULAR	190	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
613	on somandepally to hindupur road within 3km from somandepally junction	ANANTAPUR	REGULAR	117	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
614	Yadamarri Village & Mandal on SH88	CHITTOOR	REGULAR	100	ОВС	DC	35	35	1225	25	60	Draw of Lots	15	4
615	YERPEDU TO SRIKALAHASTI ON NEW NH	CHITTOOR	REGULAR	190	OPEN	CC	35	45	1575	25	10	Bidding	30	5
616	Srikalahasti Town(within town limits)	CHITTOOR	REGULAR	170	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
617	puttaparthi,on railway station road	ANANTAPUR	REGULAR	127	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
618	ON NH44 between km stone 391 and 393 LHS FROM ANANTAPUR towards Bangalore.	ANANTAPUR	REGULAR	170	OBC	сс	35	45	1575	25	10	Bidding	30	4
619	Nagari town not on NH	CHITTOOR	REGULAR	155	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
620	Palamner new bypass to Nalagampalli on NH(LHS)	CHITTOOR	REGULAR	260	OPEN	СС	35	45	1575	25	10	Bidding	30	5
621	Kuppam Town Limits not on NH	CHITTOOR	REGULAR	140	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
622	FROM KIA MOTORS TILL MARURU TOLL PLAZA ON NH 44 LHS TOWARDS HYDERABAD	ANANTAPUR	REGULAR	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
623	Tirupati Town (within town limits)	CHITTOOR	REGULAR	160	OPEN	CC	20	20	400	25	10	Bidding	30	5
624	Chittoor Town-On either side between High Court & Venkusa Kalyana Mandapam	CHITTOOR	REGULAR	102	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
625	Puttaparthy town in puttaparthy mandal	ANANTAPUR	REGULAR	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4

SI. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	type of Site*	site (in Sq M		(Frontage x	applicant 9a v	pe arranged by working capital, a capital	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
626	Nagalapuram Not on SH	CHITTOOR	REGULAR	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
627	Madanapalli town between RTC Cross Road and Thattivaripalle Jn on CTM Road	CHITTOOR	REGULAR	200	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
628	Tirupati Town Between Mangalam and Akkarampalle LHS on Karakambadi Road	CHITTOOR	REGULAR	205	OPEN	СС	20	20	400	25	10	Bidding	30	5
												Draw of		
629	NANDYAL TOWN ON ATMAKUR ROAD Tirupati Town Limits-Between Cherlopalli Junction and	KURNOOL	REGULAR	128	OBC	DC	20	20	400	25	45	Lots	15	4
630	Srinivasamangapuram Temple on either side	CHITTOOR	REGULAR	200	OPEN	СС	20	20	400	25	10	Bidding	30	5
631	Surutupalli on SH	CHITTOOR	REGULAR	190	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
632	ATMAKUR TO VELUGODU ROAD	KURNOOL	REGULAR	100	OBC	DC	30	25	750	25	45	Draw of Lots	15	4
633	In Vempalli Town Limits, Vempalli Mandal (Not on SH).	KADAPA	REGULAR	170	OPEN CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
634	Tirumala, Tirupati Rural Mandal	CHITTOOR	REGULAR	112	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
												Draw of		
635	Between Kummaranatham and Kallupalli LHS on NH42 Gajulapalle Village limits to Mahanandi X raod on (nandyal-	CHITTOOR	REGULAR	150	SC	CFS	35	45	1575	0	0	Lots Draw of	0	3
636	giddalur main road)	KURNOOL	REGULAR	150	OBC	DC	35	35	1225	25	60	Lots	15	4
637	Between Thondavada Bypass & Ithepalli village Cross on LHS of NH-140	CHITTOOR	REGULAR	150	OPEN	СС	35	45	1575	25	10	Bidding	30	5
638	Between Yadamvaripalle & Rompicherla Cross on NH-205 on either side	CHITTOOR	REGULAR	150	OPEN	СС	35	45	1575	25	10	Bidding	30	5
639	Between KG Sathram and Tirupati Bypass LHS on NH 69	CHITTOOR	REGULAR	155	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
												Draw of		
640	Banaganpalle town to Tanagaturu (On Nandyal Road)	KURNOOL	REGULAR	100	OBC	DC	30	25	750	25	45	Lots Draw of	15	4
641	Aragonda to Gajulapalli village, Thavanampalli Mandal	CHITTOOR	REGULAR	100	OPEN	DC	30	25	750	25	45	Lots	15	5
642	On SH31 From Kadapa Ring road Haritha APT Hotel to Vontimitta KodandaRamaswamy temple on Either side	KADAPA	REGULAR	255	OPEN CC 2	DC	35	35	1225	25	60	Draw of Lots	15	5
643	TADIPATRI TOWN	ANANTAPUR	REGULAR	150	OBC CC 1	DC	20	20	400	25	45	Draw of Lots	15	4
644	Nagari Town on Pallipattu Road before Railway Crossing	CHITTOOR	REGULAR	100	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
645	In Lakkireddypalli Town and Mandal Limits (Not on SH).	KADAPA	REGULAR	125	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
043	In Rayachoty Bypass Road From Govt Polytechnic to											Draw of		
646	Rajadhani Function Hall. ADONI TOWN TO KURNOOL ROAD ON RHS TOWARDS	KADAPA	REGULAR	140	OPEN	DC	20	20	400	25	45	Lots Draw of	15	5
647	BYPASS ROAD	KURNOOL	REGULAR	115	OBC	DC	20	20	400	25	45	Lots	15	4
648	Banaganpalle town, LHS from GM Theatre to Panyam X Road Circle	KURNOOL	REGULAR	185	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
649	Khajipeta village, Khajipeta mandal (Not on NH-40)	KADAPA	REGULAR	150	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
650	In Kadapa Town Limits (Not on NH/SH).	KADAPA	REGULAR	340	OPEN	CC	20	20	400	25	10	Bidding	30	5
651	Vakadu Village and Mandal	NELLORE	REGULAR	170	OBC	DC	30	25	750	25	45	Draw of Lots	15	4
652	In Pulivendula Town limits, Pulivendula Mandal (Not on NH/SH)	KADAPA	REGULAR	215	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5

SI. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	type of Site*	site (in Sq M	•	(Frontage x	applicant 9a v	be arranged by working capital, a capital	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
	Kurnool Town (Heaven garden function hall on Ulchala road											Draw of		
653	to ballary chaurasta)on main road only	KURNOOL	REGULAR	150	SC	CFS	20	20	400	0	0	Lots	0	3
	In Proddatur Town limits, Proddatur Mandal (Not on											Draw of		
654	NH/SH).	KADAPA	REGULAR	280	OPEN	DC	20	20	400	25	45	Lots	15	5
	, ,											Draw of		
655	Between MSR Circle & Chittoor Collectorate, Chittoor Town	CHITTOOR	REGULAR	120	ОВС	DC	20	20	400	25	45	Lots	15	4
	·											Draw of		
656	In Rajampet Town Limits, Rajampet Mandal (Not on NH/SH).	KADAPA	REGULAR	170	OPEN CC 1	DC	20	20	400	25	45	Lots	15	5
	Kalluru road (from My Cure Hospital to Chennamma Circle)											Draw of		
657	Not on NH-7, Kurnool City	KURNOOL	REGULAR	150	sc	CFS	20	20	400	0	0	Lots	0	3
	Madanapalli town between NTR Circle and NH Junction on											Draw of	-	
658	NTR Road	CHITTOOR	REGULAR	140	OBC	DC	20	20	400	25	45	Lots	15	4
							<u> </u>					Draw of		-
659	Kamalapuram village and Mandal (Not on NH and SH).	KADAPA	REGULAR	115	OPEN	DC	20	20	400	25	45	Lots	15	5
	ON NH-716 From Muddanur Junction to Kadapa Airport on								1.00	T ===	, · · · ·	Draw of		
660	Either Side.	KADAPA	REGULAR	185	OPEN	DC	35	45	1575	25	75	Lots	15	5
	Punganur to Chadalla Road Junction on either side of	101271171		100	0. 2.1	- 50	 		1373	- 23		Draw of		\vdash
661	Tirupati Road	CHITTOOR	REGULAR	120	OBC	DC	20	20	400	25	45	Lots	15	4
					1		† <u>-</u>		1	† <u></u>	<u> </u>	Draw of		
662	allagadda town limits (Not on road joining to NH-18)	KURNOOL	REGULAR	170	ST	CFS	20	20	400	0	0	Lots	0	3
	On NH-40 From Rayachoty Swaad Restaurant towards Pileru			270	 -	0.5	+		100		<u> </u>	Draw of	l ,	\vdash
663	road for a stretch of 30km on Either side.	KADAPA	REGULAR	160	OPEN	DC	35	45	1575	25	75	Lots	15	5
003	In Kadapa from RTO office on NH -40 to a stretch of 10km	IODAIA	REGOEAR	100	OI EIV	DC	+ 33	75	1373	23	,,,	2013	13	
664	towards Rayachoty.	KADAPA	REGULAR	160	OPEN	СС	35	45	1575	25	10	Bidding	30	5
- 004	In Rayachoty Town Limits, Rayachoty Mandal (Not on	IODALA	REGOEAR	100	OI EIV		1 33	175	1373	23	10	Draw of	30	
665	NH/SH)	KADAPA	REGULAR	285	ОВС	DC	20	20	400	25	45	Lots	15	4
- 003	KiijSiij	IODALA	REGOEAR	203	OBC	- DC	1 20	20	400	23	73	Draw of	13	7
666	Pattikonda town (YSR CIRCLE TO LALITH DHABA)	KURNOOL	REGULAR	150	sc	CFS	20	20	400	0	0	Lots	0	3
- 000	Tatakonda town (15k cikete 10 Exempliana)	KOMNOOL	REGOLAN	150	50	C1 3	1 20	20	400	- ŭ	, i	2013	, i	
	ON NH-716 From Kodandarama swamy temple Vontimitta to						1					Draw of		
667	APMDC Mangampet Mines on Either Side.	KADAPA	REGULAR	190	OPEN	DC	35	45	1575	25	75	Lots	15	5
	ON NH-340 From Rayachoty to Chinnamandem RTC Bus						 				1			
668	Stand on Either side.	KADAPA	REGULAR	160	OPEN	СС	35	45	1575	25	10	Bidding	30	5
- 000	Starta on Entire state.	IODAIA	REGOLAR	100	OI EIV		1 33	75	1373	23	10	Draw of	30	
669	Vinjamur Village & Mandal	NELLORE	REGULAR	100	OBC PH	DC	30	25	750	25	45	Lots	15	4
	Orvakal to Kalvabugga on NH (Left hand side toward			100	555111	1 50	1 30	1 -		1	<u> </u>	Draw of		
670	Nandayal from Kurnool)	KURNOOL	REGULAR	150	SC PH	CFS	35	45	1575	0	0	Lots	0	3
671	In Badvel Town Limits on NH-67 on Either side.	KADAPA	REGULAR	195	OPEN	CC	35	45	1575	25	10	Bidding	30	5
	In Khajipeta Village on NH 40 from AP Model School within						 							
672	5KM Towards Kadapa on Either Side.	KADAPA	REGULAR	315	OPEN	СС	35	45	1575	25	10	Bidding	30	5
				1			1 33			T ===		Draw of	1 30	
673	Musunur, Kavali mandal, not on NH	NELLORE	REGULAR	100	ОВС	DC	20	20	400	25	45	Lots	15	4
	In Kondapuram Village and Kondapuram Mandal on SH				1		 -		1.00	† <u></u>	 "	Draw of		
674	(Kadapa to Tadipatri Road).	KADAPA	REGULAR	160	OPEN	DC	35	35	1225	25	60	Lots	15	5
	1p p											Draw of		
675	Nandyal Town not on NH-18	KURNOOL	REGULAR	150	SC	CFS	20	20	400	0	0	Lots	0	3
	Sirinobel Hospital to Mamidalapadu, on Sunekesula road,						 		1		 		_	
676	Kurnool	KURNOOL	REGULAR	155	OPEN	СС	20	20	400	25	10	Bidding	30	5
			1		T	<u> </u>	†	T	1			Draw of		
677	Udayagiri Village and Mandal	NELLORE	REGULAR	100	ОВС	DC	30	25	750	25	45	Lots	15	4
678	Govindpalle to Nallagatla on NH	KURNOOL	REGULAR	150	OPEN	CC	35	45	1575	25	10	Bidding	30	5
			1		<u> </u>	<u> </u>	 	T	1			Draw of		
679	On New Bypass Road (joining NH-7 and NH-18	KURNOOL	REGULAR	190	SC	CFS	35	45	1575	0	0	Lots	0	3
							1					Draw of	_	
680	GUNTAKAL TOWN IN GUNTAKAL MANDAL	ANANTAPUR	REGULAR	180	ОВС	DC	20	20	400	25	45	Lots	15	4
	John Maria Committee Manager	,									. ~			

SI. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	type of Site*	site (in Sq M		(Frontage x	applicant 9a v	be arranged by working capital, a capital	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
681	Nannuru Toll Plaza to Orvakal on NH-40 (Left hand Side toward Nandyal)	KURNOOL	REGULAR	150	OPEN	СС	35	45	1575	25	10	Bidding	30	5
682	Duttalluru village and Mandal	NELLORE	REGULAR	100	OPEN CC 1	DC	30	25	750	25	45	Draw of Lots	15	5
683	Hindupur Within Town Limits not on penukonda road	ANANTAPUR	REGULAR	150	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
684	Kulluru Village, Kaluvoya Mandal (not on highway)	NELLORE	REGULAR	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
685	Ayyalur to Seetharama Village limits on Nandyal- Giddalur Highway	KURNOOL	REGULAR	150	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
686	Dhone town on Betamcherla road	KURNOOL	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
687	Penumuru Village & mandal	CHITTOOR	REGULAR	100	OBC	DC	30	25	750	25	45	Draw of Lots	15	4
688	Gonegandla to KGN Circle Yemmiganur on Kodumur Road	KURNOOL	REGULAR	105	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
689	VELDURTHY TO PEDDATEKURU (LEFT HAND SIDE ON NH-44 TOWARDS KURNOOL)	KURNOOL	REGULAR	150	OPEN	сс	35	45	1575	25	10	Bidding	30	5
690	Kurnool Town on 5 junction road to New Busstand	KURNOOL	REGULAR	150	OPEN	CC	20	20	400	25	10	Bidding	30	5
691	Penchikilapadu to Viswabharati hospital on SH-78, Kodumur raod	KURNOOL	REGULAR	145	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
692	Between Rasapalem & Varadaiahpalem on either side of Srikalahasti Road	CHITTOOR	REGULAR	100	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
693	VUTUKURU VILLAGE, SYDAPURAM MANDAL	NELLORE	REGULAR	100	ST CC 1	CFS	30	25	750	0	0	Draw of Lots	0	3
694	Sydapuram Village and Mandal	NELLORE	REGULAR	100	OPEN PH	DC	30	25	750	25	45	Draw of Lots	15	5
695	Baireddipally not on NH	CHITTOOR	REGULAR	100	OBC	DC	30	25	750	25	45	Draw of Lots	15	4
696	Aspari to Devanabanda Towards Pattikonda Gonupalle village on Adurpalle - penchalakona road on	KURNOOL	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots Draw of	15	5
697	Rapur mandal	NELLORE	REGULAR	100	SC	CFS	30	25	750	0	0	Lots Draw of	0	3
698	Machapuram Canal to Kodumur on Highway	KURNOOL	REGULAR	100	OPEN	DC	35	35	1225	25	60	Lots Draw of	15	5
699	In Veeraballi Village and Veeraballi Mandal. Nandyal Town limits on New NH-40 Bypass (Left hand side	KADAPA	REGULAR	140	OBC	DC	20	20	400	25	45	Lots Draw of	15	4
700	toward Allagadda) Tirupati Town-Between Leela Mahal Junction & Tirupati RTO	KURNOOL	REGULAR	150	OPEN	DC	35	45	1575	25	75	Lots Draw of	15	5
701	Office LHS on Karakambadi Road	CHITTOOR	REGULAR	204	OPEN	DC	20	20	400	25	60	Lots Draw of	15	5
702	Duggirajupatnam village, Vakadu mandal	NELLORE	REGULAR	100	ST	CFS	30	25	750	0	0	Lots	0	3
703	BATTLURUPADU TO YENAKANDLA JAYA JYOTHI CEMENT FACTORY on BENAGANPALLE TO Betamcherla ROAD	KURNOOL	REGULAR	150	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
704	Between Moram Village and Baireddypalli LHS on NH 42	CHITTOOR	REGULAR	160	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
705	Kadapa Town From Chinnachowk Police station towards Tirupati for a stretch of 3Kms on Either side.	KADAPA	REGULAR	150	OPEN CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
706	Bukkapuram Village Vinjamur mandal	NELLORE	REGULAR	100	SC	CFS	30	25	750	0	0	Draw of Lots	0	3
707	Noonapalle overbridge Nandyal to New Bypass road on main road banaganpalle	KURNOOL	REGULAR	150	ОВС	DC	35	35	1225	25	60	Draw of Lots	15	4

SI. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	tuno of	site (in Sq M	•	(Frontage x	applicant 9a v	e arranged by vorking capital, a capital	Modoof	Fixed Fee / Min bid amount (Rs in Lakhs)	
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
	Between Piler town to Maddelacheruvu on either side of NH											Draw of		
708	40	CHITTOOR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Lots	15	5
	ANANTAPUR TO BELLARY ROAD ON NH-42(EITHER													
	SIDE)WITHIN 5KMS FROM MG PETROL BUNK TOWARDS											Draw of		1 1
709	BELLARY ROAD.	ANANTAPUR	REGULAR	200	OPEN	DC	35	45	1575	25	75	Lots	15	5
	pERUSOMULA TO MUKAMALLA ON MAIN ROAD											Draw of		
710	KOILAKUNTLA	KURNOOL	REGULAR	100	OBC	DC	35	35	1225	25	60	Lots	15	4

a) If the minimum dimension mentioned here is different from the minimum dimensions mentioned by State Authorities, then the dimensions applicable on the date of advertisement for the state, as given by the authorities will be treated as minimum required dimension. b) "The minimum dimension mentioned in the advertisement here is for the purpose of eligibility criteria. However for better layout, positioning & construction of facilities, better maneuverability of vehicles, better customer convenience which is likely to give better sales, bigger plot sizes of about 35m x 35 m would be preferable for other than NH sites"

Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

* The site should either be Owned or on lease with applicant for minimum 19 years and 11 months or Applicant should have firm offer for the same.

a) If the minimum dimension mentioned here is different from the minimum dimensions mentioned by State Authorities, then the dimensions applicable on the date of advertisement for the state, as given by the authorities will be treated as minimum required dimension. b) "The minimum dimension mentioned in the advertisement here is for the purpose of eligibility criteria. However for better layout, positioning & construction of facilities, better maneuverability of vehicles, better customer convenience which is likely to give better sales, bigger plot sizes of about 35m x 35 m would be preferable for other than NH sites"

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available at a cost of Rs. 100/- from the Corporation Offices at the addresses mentioned below. It is also hosted in the Corporation Website www.bharatpetroleum.in and www.petrolpumpdealerchayan.in can be downloaded free of cost.

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION.

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by -------

Type of RO	Type of RO Type of Site		Applicatio n fee in Rs.	Type of RO	Type of Site	Category	Applicati on fee in Rs.
Regular ROs	CFS	SC/ST	3000		CFS	SC/ST	2500
	CC	OBC	5000	Rural	CC	OBC	4000
	CC	Open	10000	ROs	CC	Open	8000
	DC	OBC	5000		DC	OBC	4000
	DC	Open	10000		DC	Open	8000

SI. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	type of	site (in Sq M	•	(Frontage x	Finanace to b applicant 9a w 9b infra	orking capital,	Mode of	Fixed Fee / Min bid amount (Rs in Lakhs)	,
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of 15 years and renewable every 5 years thereafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason. In case of any discrepancy in advertisement published in English News papers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any dispute.

For purchase of Brochure and any information with regard to the advertisement, candidates may contact the following address:-

Territory	Districts Covered	Address	Contact No.
VIZAG	EAST GODAVARI, SRIKAKULAM, VISAKHAPATNAM, VIZIANAGARAM, WEST GODAVARI	Territory Coordinator (Retail), BPCL Vizag, Vizag Installation, Near Dhanareddy Godowns, P O Navel Base, Visakhapatnam 530014	9491638766
VIJAYAWADA	KRISHNA, GUNTUR, PRAKASAM	Territory Coordinator (Retail), Vijaywada, Kondapalli Depot (TOP), Pinapaka(Vil & Post), G.Konduru Mandal, Vijayawada, Krishna Distrcit, AP - 521228	9440284138
NELLORE	ANANTAPUR, CHITTOOR, KURNOOL, NELLORE, KADAPA	Territory Coordinator (Retail), BPCL Nellore 24/1628, 1st Floor, SM Tower, GNT Road, Durgamitta, Nellore - 524003	8825811358